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Question Number : 1 Question Id : 2752285226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Adhai Din Ka Jhonpra is a large and imposing structure built by Qutubuddin Aibak. It is located in
Options :

1. #* Jaipur

2. # Delhi

3. ¥ Ajmer

4. % Hyderabad

Question Number : 1 Question Id : 2752285226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



31GTs o &1 SUST, Fde M Ued gRI i fa=ITe $fR Yo TR 31 I8 7 R g1
Options :

1. % SR

2. % ol

3. ¢ 3SR

4. % TEXIETE

Question Number : 2 Question Id : 2752285227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hikkat, an old form of folk dance, is generally performed by young girls and young boys during marriage ceremonies in
Options :

1. % Madhya Pradesh

2. % Himachal Pradesh

3. ¥ Goa

4. % Jammu and Kashmir

Question Number : 2 Question Id : 2752285227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feadd, e T &1 R ET g, o JrH=a: 7 faare YRG! & SR gaT asfeadl 3R gal dse! gRT fbar ST g |
Options :

1. % g Uy

2. % RUR yew
3. % Tl

4. T 3R HIHR

Question Number : 3 Question Id : 2752285228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The FRBM Act mandates fiscal deficit of of GDP was to be achieved by 315 March 2020-2021.



Options :
1. * 3.6%
2. % 4%
3. % 3.5%
4. ¥ 3%

Question Number : 3 Question Id : 2752285228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH3RATTH (FRBM) 31w & 81 71 8 f GDP & & JSTH YT °T1e B 31 AIE 2020-2021 T SIS foodT ST 4TI
Options :

1. # 3.6%

2. % 4%

3. % 3.5%

4.9 3%

Question Number : 4 Question Id : 2752285229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the highest denomination of notes that Reserve Bank of India can issue as per the current provisions of the Reserve Bank of India of Act,
1934?

Options :

1. * 2,000
2. % 1,000
3. * 5,000
4.+ 10,000

Question Number : 4 Question Id : 2752285229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Rord da SIIfFTW, 1934 & TAaM WAL & SR YR Re1d 9 gRT ORI {6 S 9o aTet Alc! & I=ad Gedat o1 62

Options :



1. #* 2,000
2. % 1,000
3. % 5,000
4. % 10,000

Question Number : 5 Question Id : 2752285230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are referred to as amphibians of the plant kingdom as they live in soil but depend on water for sexual reproduction.
Options :
1. # Thallophytes
2. ¥ Bryophytes
3. % Angiosperms
4. # Pteridophytes

Question Number : 5 Question Id : 2752285230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI 160 ST & SHTR & &0 H T id fosar sirar § Fife d gar (Fgh & 8d ¢ foveg a9 oo & fae ot R AR g B
Options :
1. # JdIpgey
2. ¥ SRIGTIECH
3. % Uoltefrgwy
4. % CRIPIZY

Question Number : 6 Question Id : 2752285231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following statements is INCORRECT?
Options :

1. #* Increase in the number of turns in the coil increases the induced electromotive force.



2. # Increasing the magnetic field strength increases the induced electromotive force.
3. ¥ Increasing the speed of the relative motion between the coil and the magnet, results in the decreased electromotive force.

4. ® The induced electromotive force in a coil is equal to the rate of change of flux linkage.

Question Number : 6 Question Id : 2752285231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed ¥ ¥ 1 91 By Ted 22

Options :

1. % Sl H gATd o1 Tem § gfg J IR faegddes sa # gfg i =1

2. % GBI &F B dIhd de- 4 URd faggdde® s dadl g

3. ¢ $B! 3R Wb & s MTUTE T HT T d¢- ¥ faggdares ad § ST 31l 3|
4. % Tl et # URd faggdae® aa waad fefdret H URad- & aX & SRR gl ¢ |

Question Number : 7 Question Id : 2752285232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Jaintia Hills is located in which of the following states?
Options :

1. ¥ Meghalaya

2. ® Tripura

3. ® Tamil Nadu

4. ® Himachal Pradesh

Question Number : 7 Question Id : 2752285232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Safoar ygifeat fafaiRad # 3 fog Isa § fRud g2
Options :

1. ¢ HYTag
2. % g



3. % A A1g
4. % R USW

Question Number : 8 Question Id : 2752285233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following pairs of longest river and country is INCORRECT?
Options :

1. # Yangtze - China

2. % Murray-Darling - Australia

3. ¥ Severn - United States of America

4. % Amazon - South America

Question Number : 8 Question Id : 2752285233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 gad ol 7dl SR <=1 B D 0 St Ted 6
Options :

1. % il - I

2. % TWR-SIfef - s feran

3. ¢ YA - Ggad g SARDT

4. % THTSI - aféror skt

Question Number : 9 Question Id : 2752285234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was appointed the Governor of Bengal in 1764?
Options :

1. ¥ Robert Clive

2. # Warren Hastings

3. % William Bentinck



4. % John Shore

Question Number : 9 Question Id : 2752285234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 g 1764 & S &1 7Ta-R g fosan mam am
Options :

1. ¢ Aq< Frsd

2. % gRA g™

3. % faferm ofe®

4. % SR

Question Number : 10 Question Id : 2752285235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Battle of Talikota was a watershed battle fought between the Vijayanagara Empire and an alliance of the Deccan sultanates in
Options :

1. % 1594

2. % 1581

3. % 1572

4. ¥ 1565

Question Number : 10 Question Id : 2752285235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SINEAECIE  fOSg TR AT 31R G Aedd-d & ToadH & d1d Ae] 17 eI I Tl
Options :
1. % 1594
2. % 1581
3. % 1572

4. % 1565



Question Number : 11 Question Id : 2752285236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In , the East India Company acquired a charter from the ruler of England, Queen Elizabeth I, granting it the sole right to trade with the
East.

Options :
1. % 1612
2. % 1600
3. % 1627
4. % 1607

Question Number : 11 Question Id : 2752285236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, 3% ST HU A VS DI AP, TR TfewTay 1 ¥ SHfOHRuT U forar, i 38 gd & 1Y IR 63 &1 THHTH
TYFHR T R g
Options :
1. % 1612
2. ¢ 1600
3. % 1627
4. % 1607

Question Number : 12 Question Id : 2752285237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Robinson Crusoe’ is written by

Options :

1. # Jane Austen

2. ¥ Daniel Defoe

3. # Richard Nixon

4. % Louisa May Alcott



Question Number : 12 Question Id : 2752285237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A v SR feran T B
Options :

1. % S 3f1%e

2. ¢ SHTA ST

3. % a8 Ao

4, % AT H ddIc

Question Number : 13 Question Id : 2752285238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Har Gobind Khorana received a Nobel Prize, jointly with Robert W. Holley and Marshall W. Nirenberg, in 1968 for his contribution in the field
of

Options :

1. # peace

2. # physics
3. % medicine

4, % literature

Question Number : 13 Question Id : 2752285238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5<J|\||'?4-c;ﬁ[{%$|-ﬂ Gal & & T 3% TN & AT 1968 T Mac Sy, Bl 3R ARA S&eg, FRAe & 91y Igad © 0 J Aiad
RIHR I

Options :
1. % Thifd
2. % Yifaet
3. ¢ fafde
4. % gifgd




Question Number : 14 Question Id : 2752285239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

United States of America and signed a document titled “New Atlantic Charter” on 10 June 2021.
Options :

1. # Russia

2. % United Kingdom

3. % India

4. % France

Question Number : 14 Question Id : 2752285239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG I SR 3R 1 10 5 2021 P "G Jfcefifce AR AH & GEATdW R GEIER BTl
Options :

1. % 4

2. TARCS fdhign

3. % HRd

4. % Y

Question Number : 15 Question Id : 2752285240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

have developed an early cyclone detection technique which will help in early detection of development or strengthening of tropical
cyclones in North Indian Ocean region.

Options :

1. # Indian Institute of Technology (IIT), Delhi

2. # Indian Institute of Technology (IIT), Bombay
3. % Indian Institute of Technology (IIT), Kharagpur
4. # Indian Institute of Technology (IIT), Madras



Question Number : 15 Question Id : 2752285240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 IR TehaTd BT Udl A BI A1 [AHId DI & ol IR [ag HENIIR &3 H IWishfeaia aghard! & fawra a1 Avree
&1 Y Ul T § Heg H|

Options :

1. % YR Wenfiist I=IM (1), fowd
2. % YR Wt GRIF (117), 593

3. ¢ YR Mfe! SR (11T), TSR
4. % YR Trenfiet TRIM (10T), 75T

Question Number : 16 Question Id : 2752285241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

has launched a collateral-free “Kavach Personal Loan” to enable its customers to meet medical expenses of self and family
members for Covid treatment in June 2021.

Options :

1. ¥ State Bank of India

2. ® Central Bank of India
3. # Union Bank of India
4. % Reserve Bank of India

Question Number : 16 Question Id : 2752285241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 2021 T 30 TEH! DI DTS & IUAR & OIE WY SR URAR & Tl & Fafde Wt &l OR-1 B H el 9911 & fag
Turier-gad "dwad iAd A yafid fear g
Options :
1. ¢ YR We dF
2. % Ived dab 3 Sfear
3. % giYge do offs Sfean
4. % YR Red oF




Question Number : 17 Question Id : 2752285242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

90™ Constitutional Amendment provided for maintaining the erstwhile representation of the Scheduled Tribes and Non-Scheduled Tribes in the
legislative assembly.

Options :

1. # West Bengal
2. ¥ Assam

3. % Tripura

4. % Qdisha

Question Number : 17 Question Id : 2752285242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁfﬁwﬁ?ﬁwﬁ faem THT & Sy SHfaal 3iR TR-gfad sHenfadt & gdadf ufafafeia & 9918 R & foe Uea
I

Options :

1. % Uigw §Te

2. ¢ AHHH

3. % B

4. % 3fSEm

Question Number : 18 Question Id : 2752285243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total number of ministers, including the Prime Minister, in the Council of Ministers shall not exceed of the total strength of the
Lok Sabha.

Options :
1. % 13%
2. % 21%
3.9 15%



4. = 24%

Question Number : 18 Question Id : 2752285243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afufeee & g T wfitd 4l @) oo Se dieay B $d I Y 31 T8I gl A1y
Options :

1. * 13%

2. % 21%

3.9 15%

4. % 24%

Question Number : 19 Question Id : 2752285244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The famous BraBourne Stadium is located in
Options :

1. * Hyderabad

2. % Jaipur

3. % Mumbai

4. % Chennai

Question Number : 19 Question Id : 2752285244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRTG se wfeaH H R I
Options :

1. % BRIETS

2. % SIqY}

3. ¥ 4%

4. % I3



Question Number : 20 Question Id : 2752285245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Women's Singles in the French Open 20217
Options :

1. % Anastasia Pavlyuchenkova

2. # Serena Williams

3. ® Maria Sakkari

4. ¥ Barbora Krejcikova

Question Number : 20 Question Id : 2752285245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o 9 fe 1ha it 2021 & Tfge tohd Sitan
Options :

1. % TARAIRAT UTdega-Teh dl

2. % I faferoey

3. % ARG GFbRI

4.+ IRERT shlepral

General Ability

Group Number : 2

Group Id : 275228174
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Ability

Section Id : 275228276
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228331
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752285246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Overseas
2. Overthrow
3. Ovenware
4. Overcast
5. Overdo

Options :

1. % 3,4,5,2,1
2.9 345,12
3. % 234,15
4. % 435,1,2

Question Number : 21 Question Id : 2752285246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T 70 I3 B IY HH B HIRYT B S HH H d TsgHI H B ¢

1. Overseas
2. Overthrow
3. Ovenware
4. Overcast
5. Overdo

Options :

1. % 34521
2.9 34512
3. % 234,1,5
4. % 435,12

Question Number : 22 Question Id : 2752285247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series.

4E6, 6G9, 9113, 13K18, ?
Options :

1. % 16N23

2. % 18L24

3. ¥ 18M24

4, % 17M23

Question Number : 22 Question Id : 2752285247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafeiad e &1 R &

4E6, 6G9, 9113, 13K 18, ?

Options :

1. % 16N23

2. % 18L24



3. ¥ 18M24
4. % 17M23

Question Number : 23 Question Id : 2752285248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Panaji
2. # Imphal
3. % Silchar
4. % Aizawl

Question Number : 23 Question Id : 2752285248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TC famed & 9 & T [y dRid 9 90 § | 810D, Th [dwed o1 i &1 dve T8l o | 39 [Awed &1 99 &< off 3 ¥ AT 5|
Options :

1. ® YULSit

2. % QUPIA

3. ¢ RIeeR

4. % 3N

Question Number : 24 Question Id : 2752285249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # Cub
2. ¥ Hen



3. # Kitten
4. % Calf

Question Number : 24 Question Id : 2752285249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TC fawmed & 9 & T [y dXid 3 90 § | 8Tald, Th [dwed o1 i &1 dve T8l o | 39 [Awed &1 9= &< off 3 ¥ 3T 5|
Options :

1. * fRER

2. ¢ T

3. % fadier

4, % dS8l

Question Number : 25 Question Id : 2752285250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Furniture : Carpenter :: Gold Jewellery : ?
Options :

1. * Artist

2. % Blacksmith

3. ¥ Goldsmith

4. * Worker

Question Number : 25 Question Id : 2752285250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [dored &1 999 B S el Ue I I UHR ¥ a&fid § o UHR ¥ gkl UE Ugd U & Hafdd g
W:@ﬁ::@ﬁ%aﬂw:?

Options :



1. ¥ Hf[hPR
2. % TIgR

3. ¢ IR
4. % HIR

Question Number : 26 Question Id : 2752285251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Oil : Lamp :: Oxygen : ?
Options :

1. # Atmosphere

2. % Air

3. # Trees

4. ¥ Life

Question Number : 26 Question Id : 2752285251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed &1 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo UR ¥ gOR1 UG Ugd Ug ¥ Hafed g
ad : S - T : 2

Options :

1. % gIgHSd
2. % 4dig

3. % US

4. ¢ Sitaq

Question Number : 27 Question Id : 2752285252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If ‘bike is cycle’, ‘cycle is plane’, ‘plane is train’, ‘train is scooter’, then which of the following options is associated with railways?
Options :

1. % bike

2. % train

3. ¥ scooter

4. % plane

Question Number : 27 Question Id : 2752285252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe aIEd AEfhd o7, Ui gaTsvIeN &7, ‘BalsoIgNy YATISl &7, YAS!, Tpex &, d Fafafed & ¥ &F 1 fdwey Yad 9 981 82
Options :

1. % 9IEdh

2. ® YA

3. ¥ /R

4. * GaATRSIB

Question Number : 28 Question Id : 2752285253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, '72' means 'very beautiful', '216' means 'a beautiful day', '698' means 'a nice girl', then, what is the code for 'day'?
Options :

1. %7

2.%6

3.¢1

4. % 8

Question Number : 28 Question Id : 2752285253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (Aigd ®is U H, 172! &1 3 g 'very beautiful', '216' T 31 B 'a beautiful day', '698' bl 31 B 'a nice girl', ar 'day’ & fou eis T 87
Options :



1. =7
2.% 6
3.¢ 1
4. % 8

Question Number : 29 Question Id : 2752285254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many 4s are there in the given sequence which are neither preceded by 6 nor immediately followed by 9?

9466495947891649649
Options :
1. ¥ two
2. % three
3. % four

4. % five

Question Number : 29 Question Id : 2752285254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U SrghH & U fha 4s € PF& Tga A dl 68 SIRAG I a1 H 9 82

9466495947891649649
Options :

1.vY Q@

2. % dH

3. % IR

4. % U

Question Number : 30 Question Id : 2752285255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A is the brother of B and C. D is C's mother. E is A's father. Which of the given statements are definitely TRUE?

1.Bis E's son

2. E is B's father
3. Dis A's mother
4. A is D's son

Options :

1.2 3,4
2.%1,2,3
3.% 1,3,4
4. % 1,2,4

Question Number : 30 Question Id : 2752285255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, BIRCHIHSEID,CHIAMGIE, ADTUar g Rumuasyi A d s o fRfya s ud aa g

I.B,E®IA®
2.E,BHIfUarg
3.D, AP AT
4 ADBITAR
Options :
1.¥2,3,4

2. % 1,23

3.% 1,3,4

4.% 1,24

Question Number : 31 Question Id : 2752285256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All terrorists are human.



Statement 2 : All humans are bad.

Conclusion I : All terrorists are bad.
Conclusion II : No human can be terrorists.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusion I and IT follow.

4. % Either conclusion I or II follows.

Question Number : 31 Question Id : 2752285256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yy H, o1 pU feu e B, s a1 < s 1 3R 11 fRT U €1 3iueh) 39 Sy &bl I HFAT ©, Wl §1 I8 ITHIG: I1d 9 O fie Uddta
BNl 3! T AT § o few e st & 9 o1 w1, afe o1 81 Y, faw e ot & | SraRur axar g

$YF 1 : i srdpardt ST 2
Y72 I AR

g 1 Tt sidmart REQA ||

s 11 P 1 ST 3Mdepard) 7ET 8 gl
Options :

1. ¥ $Hqd [T5HY [ 3IIRU Hal 8

2. % Had (BN 11 SR Hal §

3. % fspel 1 3R 11 G SFTERYT R 6|

4. % gl FTSHY 17 11 S8R0 H=ll ¢ |

Question Number : 32 Question Id : 2752285257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two assumptions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given assumptions, if any, follows from the given statement.

Statement: "If you want to advertise anything, get it printed in newspaper 'Z' " Anita tells Bobby.



Assumptions I : Bobby wants to promote his products.
Assumptions II : Newspaper 'Z' has wide circulation.

Options :

1. # Only assumption I is implicit.
2. % Only assumption II is implicit.
3. % Both I and II are implicit.

4. # Neither I nor II is implicit.

Question Number : 32 Question Id : 2752285257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H, U HYU fear T 8, s a1 S yRUmy [ 3R 11 &) 78 €| 3MTUh] 3 S &l I AT §, HA & T8 IHIG: J1d a2 3 fie
i 811 3MUeh! a9 1 § b < 72 yRumal & A i A, afe 1S 81 a1, R e by § § S 8Ru Srar g

HY: "I 3y forelt I o1 U AT A18d €, 41 S 17 IHER U7 § SUaT o 3idT aiel d ddl g

YR I : STal 30 IddTel T TR BT A8l g
YR 11 : YR UF 'Z' &1 A% U ¢ |
Options :

1. % Pad yror [ FAfed 81
2. % PHad yRon 11 AR g1
3. ¢ 1 3R 11 g FAfgd 81

4. % Fr3RATg 0 ARI T

Question Number : 33 Question Id : 2752285258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % 961
2. 9% 245



3. % 1681
4. % 441

Question Number : 33 Question Id : 2752285258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T famed & 9 & Te [y dRid 3 90 § | 8TalD, Th [ded o1 9 &1 dve T8l o | 39 [Aed &1 99 &< off 3 ¥ 3T 5|
Options :

1. % 961

2. ¥ 245

3. % 1681

4. % 441

Question Number : 34 Question Id : 2752285259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If *-’ stands for ‘=, “+’ stands for ‘x’, ‘=’ stands for ‘-” and ‘%’ stands for ‘+’, then which of the following options is CORRECT?
Options :

1.% 49+7-3x5+8=20

2. % 49x7+3+5-8=16

3.949-7+3+5%x8=24

4. % 49+7x3+5-8=26

Question Number : 34 Question Id : 2752285259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG o BTG 0, B E x, + PTG - 3R x> 1 3 g+, T TR # 4 b1 a1 fashed Wl &2
Options :

1. % 49+7-3x5+8=20

2.% 49x7+3+5-8=16

3.949-7+3+5x8=24

4, % 49+7x3+5-8=26



Question Number : 35 Question Id : 2752285260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given Venn diagram represents Bureaucrats, Graduates and Post graduates. Which part represents all the
Bureaucrats who are Graduates and Post graduates?

Post graduates

S
RA0N

Bureaucrats

Options :
1. % B
2. % C
3.%D
4. ¥ G

Question Number : 35 Question Id : 2752285260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T a1ar 37 3@ AFnengEl, TEH AT FTEcad & vafEe Far g1 Sl @ der g St
1 A =G § S s 3 Taeieat 82

/o)
R VAA
ATl
Options :
1.* B
2. % C
3.%D
4. ¥ G

Question Number : 36 Question Id : 2752285261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many maximum number of triangles are there in the given question figure?

Options :
1. % 13
2. % 14
3.¥ 15
4. % 16

Question Number : 36 Question Id : 2752285261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 715 W Hpfa F P & 3Owaw gem e 82

Options :
1. % 13



2. % 14
3.¥ 15
4. % 16

Question Number : 37 Question Id : 2752285262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select
the option which is different from the rest.

Options :
1. % A
2. % B
3.¥C
4. %D

Question Number : 37 Question Id : 2752285262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T 71T [FFeal § ¥ d9 & AfPag s ¥ g5 81 geieh, T 9%eT 37 J9 &7 g el &1 39
e &7 =99 F{ 3T 37T T 39T gl

Options :
1. % A
2. % B
3.¥C
4. %D

Question Number : 38 Question Id : 2752285263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

Options :



3. ®

D O] D] D

4. %

Question Number : 38 Question Id : 2752285263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f=faf@a & & #la d@ 3o o 9o smpfa & g@er FF [ FEr 82

ALZARO I

Options :

2. ¥

iy
%
9

3. %




Question Number : 39 Question Id : 2752285264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the options is the right water image of the given figure?

Options :




Question Number : 39 Question Id : 2752285264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e & @ w7 ar fFeT & 75 3y & @l 5w o 27

Options :




Question Number : 40 Question Id : 2752285265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A paper is folded and cut as shown in the given figures. Select from the options how will it appear when opened.

o
g &
pe ™ iy el
X ¥ z
Options :
<& &
& &
- A

i
£ 8380

L x




O
COCO

o O 0

O QR
4.33//_\

Question Number : 40 Question Id : 2752285265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&r 1% AT A R@IT 17 R T FES F A AR Fer 2w g REedt 7 § 599 # F e
T Treld T Tg AT Q|

: <&
; >
X Y 7

Options :
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Arithmetic Ability
Group Number : 3



Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 41 Question Id : 2752285266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is greater than 4/5 but less than 8/9?

Options :
1. ¥ 5/6
2. % 3/4
3. % 4/6
4. % 9/10

275228175
0

0

No

No

0

20

No

Arithmetic Ability

275228277
1

Online
Mandatory
20

20

20

Yes

1
275228332
Yes



Question Number : 41 Question Id : 2752285266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 o a1 4/5 A 98T 8, fohg 8/9 T BleT /2
Options :

1. ¥ 5/6

2. % 3/4

3. # 4/6

4. % 9/10

Question Number : 42 Question Id : 2752285267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the HCF of 2/5, 3/7 and 4/9 ?
Options :

1. % 315

2. % 12/1

3.9 1/315

4. % 12

Question Number : 42 Question Id : 2752285267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2/5,3/7 3R 4/9 BT HgTH THTIIID HT 57
Options :

1. % 315

2. % 12/1

3.9 1/315

4. % 12

Question Number : 43 Question Id : 2752285268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A discount of 3.5% is given on a article. The man bought that article for Rs. 250. What is the market price of the product?
Options :

1. ¥ Rs. 259.07

2. % Rs.241.25

3. ¥ Rs. 258.75

4. % Rs.232.5

Question Number : 43 Question Id : 2752285268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T WR 3.5% D1 Be 4l Ol ¢ | Th SATEH! 7 I a¥g ! . 250 T WReT, IAE BT I6R Jed F1 82
Options :

1. % %.259.07

2. % %.241.25

3. % %.258.75

4, % %.2325

Question Number : 44 Question Id : 2752285269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student multiplied a number by four and added 5 to the number instead of dividing the number by four and adding 5. The difference between
the two results is 60. What is the percent error in the calculation?

Options :

1. ¥ 667.67%
2. % 6.67%

3. % 66.67%
4. % 6666.67%

Question Number : 44 Question Id : 2752285269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TH B A T TS P IR I 0 {1 3R T &1 IR I TR o3 3R 5 S & Soid =T | 5 5t faar| g alRomdl & &t &t
3R 60 B 1 0T B wfard Jfe Fn g2

Options :

1. ¥ 667.67%

2. % 6.67%

3. % 66.67%

4. % 6666.67%

Question Number : 45 Question Id : 2752285270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 20% of ‘x’ is equal to 10% of “y’ then 15% of ‘x’ will be equal to how much of ‘y’?
Options :

1. * 30%

2. % 22.5%

3.9 7.5%

4. * 40%

Question Number : 45 Question Id : 2752285270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X BT 20%, 'y’ B 10% b SRR 8, Al 'x' BT 15%, 'y' P foba P SRISR T2
Options :

1. * 30%

2. % 22.5%

3.9 7.5%

4. % 40%

Question Number : 46 Question Id : 2752285271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A shopkeeper earns a profit of 10% over cost. If he sales 800 worth of goods, what was his cost price?
Options :

1. % Rs. 725.15

2. % Rs. 727.27

3. % Rs. 710.25

4. % Rs. 738.69

Question Number : 46 Question Id : 2752285271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH HTER AT ¥ 10% BT ATH Hfoid Bl & | A 8 800 Yed 1 AT Sadl &, <l SUbT ARTd Jed T 412
Options :

1. %% 725.15

2.¥%.727.27

3. % %.710.25

4. % . 738.69

Question Number : 47 Question Id : 2752285272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost price of 30 articles is the same as selling price of ‘y’ number of articles. If the profit is 20% then what is the value of ‘y’?
Options :

1. * 10

2. % 15

3. %20

4.9 25

Question Number : 47 Question Id : 2752285272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
30 T3 BT AN oo 'y’ TGS D1 =1 & fahd Yo & TAF § | Al T 20% € af *y” &1 HH a1 82

Options :




1. ® 10
2. % 15
3.% 20
4,9 25

Question Number : 48 Question Id : 2752285273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a bag there is coins of 20, 10, 5 rupees in the ratio 2 : 3 : 6. If there is Rs. 100 in all, how many Rs.5 coins are there?
Options :

l1.#3

2.6

3.% 2

4. %9

Question Number : 48 Question Id : 2752285273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH AAH 2:3: 6P U H 20, 10, 5 TUT P Ry &1 TS A 100 YT G, A 5 FUT & fba- Ry g2
Options :

1. %3

2.¥6

3.% 2

4. %9

Question Number : 49 Question Id : 2752285274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a mixture of 50 litres, the ratio of milk and water is 3 : 2. If the ratio is to be 2 : 3, then the quantity of water to be further added is:
Options :

1. ¥ 25 litres



2. % 10 litres
3. # 15 litres
4. % 20 litres

Question Number : 49 Question Id : 2752285274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 TTeR & 80T § g SR U &1 3UTd 3 : 2 §1 IS 3FUId 2 : 3 HT |, Y Siis o1 arelt urt &1 sifafked A &:
Options :

1. ¥ 25 IR

2. % 10Tl

3. % 15dle}

4. % 20 Wl

Question Number : 50 Question Id : 2752285275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between the compound interests on 8000 for 1.5 years at 5% p.a. compounded annually and half yearly?
Options :

1. ¥ 7.69

2. % 305.57

3. % 8.65

4. % 21048

Question Number : 50 Question Id : 2752285275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1.5 98 & fore a1t Thgfs SR i a1t ahdia TR Ufaay 5% P ax A 8000 TR Ahqlg ST o §1d BT R fohaT 62
Options :

1. ¥ 7.69

2. % 305.57




3. % 8.65
4. % 210.48

Question Number : 51 Question Id : 2752285276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The principal amount is Rs. 1000, rate of interest is 6% and period is 5 years. What is the difference between compound interest and simple
interest earned?

Options :

1. % Rs. 1300

2. % Rs. 1338.22
3. ¥ Rs. 38.22
4. # Rs. 60.55

Question Number : 51 Question Id : 2752285276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AL 3. 1000 8, STST <R 6% & 3R @iy 5 a8 g1 3ifSTd Tshafes ST 3R TR TS H T 3R 82
Options :

1. % %.1300

2. % %, 1338.22

3.9%.38.22

4. %%, 60.55

Question Number : 52 Question Id : 2752285277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains runs at a speed ratio of 7 : 8. If the first train runs 200 Kms in 3 hours then, what is the speed of the first train (in Km/h)?
Options :

1. % 99.99

2. % 3333

3. % 9.52



4. % 66.67

Question Number : 52 Question Id : 2752285277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Yemfeat 7 : 8 & T SIUTd ¥ I g | IS Tget YerTma! 3 6 H 200 Kms I &, Al Ugal YATIS! &1 1fd (Knvh T o471 82
Options :

1. * 99.99

2. % 33.33

3. % 952

4. ¥ 66.67

Question Number : 53 Question Id : 2752285278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train is 300 meters long. If it can cross the 1 Km long railway track in 1 minute then, what is the speed of the train (in Km/h)?
Options :

1. * 18

2.¥78

3. % 60

4. % 50

Question Number : 53 Question Id : 2752285278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YeTTet 300 Hiex el 81 I 98 1 Km da Yoid Y b1 1 fire § UR &R Jobcl 8, dl Yermme &1 1fd (Ko/h H) 1 82
Options :

1. % 18

2.9 78

3. % 60

4. % 50



Question Number : 54 Question Id : 2752285279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C can do the work in 10, 20, 40 days respectively. If one day they all work together, how much of work will be done in that day?
Options :

1. % 7/40

2. % 40/7

3. % 4/7

4. % 1/70

Question Number : 54 Question Id : 2752285279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C BHL: 10, 20, 40 &1 BT R Thd © | AfE T &1 3 9l U W1y 1 =l B, ot 39 feaA H foba ovrd fopar s
Options :

1. ¥ 7/40

2. % 40/7

3. % 4/7

4. % 1/70

Question Number : 55 Question Id : 2752285280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘X’ 1s twice as good as ‘Y’ and take 10 days less than ‘Y’ to complete the work. If they both work together then, how long will ‘X’ and ‘Y’ take
to complete the job?

Options :
1. % 10/3
2.% 20
3.% 10
4.9 20/3



Question Number : 55 Question Id : 2752285280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y QAN PG MR P DI R HAH Yy’ T 10 T A AN S A I U T P B €, a1 X 3R Y DY B R B
o= 5T T

Options :

1. * 10/3

2. %20

3.% 10

4. ¥ 20/3

Question Number : 56 Question Id : 2752285281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cone is filled with water. The dimensions of the cone are; height = 15 cms and diameter = 14 cms. The water is emptied into a cube of length
10 cms. What is the height of the water in the cube?

Options :
1.¥ 7.7 cm
2. % 10 cm
3. % 5cm

4. % 55cm

Question Number : 56 Question Id : 2752285281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WWW@W%IW%W%WZIS cms 3‘?|T55|'m=14cms|qﬁﬁmcmsm%ﬁﬂ:{ﬁmmW%Iﬂqﬁwﬁ
SaTs fardt 82

Options :

1.¥ 7.7 cm

2. % 10 cm

3. % 5cm

4. % 55cm



Question Number : 57 Question Id : 2752285282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of the base of a cubic tank is 4900 square centimetres. The water is filled 1 cubic meter. Find the depth of the water (in m).
Options :

1. # 0.02

2. % 1.04

3.9 2.04

4. % 3

Question Number : 57 Question Id : 2752285282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AR Sl &b YR BT AFHA 4900 T11 AR 81 U 1 99 Hiex Ieb HRT ST & | U 1 TTeRTS (m H) 1 DR
Options :

1. % 0.02

2. % 1.04

3.9 2.04

4. %3

Question Number : 58 Question Id : 2752285283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The pie chart depicts the household expenses bifurcation. The expenses towards miscellaneous is 1000. What will be the

expense for the bifurcation that has highest percentage cost allocated?

Household expenses (in %)
Packaged food,

Options :

1. #¥ Rs. 300
2. % Rs. 200
3. ¥ Rs. 3000
4. % Rs. 2000

Question Number : 58 Question Id : 2752285283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9Ig T T TEl & SH (F%He) Fogeiar gl fafew & o w= 1000 g1 3w R
(FT=werere) & T @ Far gem Sud 3=uan giaug ane dEfeq $r o

W T (% H)

Options :

1. % %.300
2. %%.200
3. ¥%.3000
4. % %2000

Question Number : 59 Question Id : 2752285284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which two schools have the same difference between the subjects and sports teachers?

m Sports Teachers m Subject teachers
£
®
kY
°
:
W X ¥ z
Mame of School
Options :
1. % W, X
2.% WY
3.9 W, Z
4. % 7. X

Question Number : 59 Question Id : 2752285284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % W, X
2. % W, Y
3.¥W, Z
4. % 7. X

Question Number : 60 Question Id : 2752285285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



The percentage of the sales increase over the previous year is maximum in which year?

140 -
120 120

120 - 110

99

100 - 90

73

Sales
=

20 -+

1393 2000 2001 2002 2003 2004 2005 2006 2007

Year

Options :
1. ¥ 2004
2. % 2001
3. % 2011
4. % 2003

Question Number : 60 Question Id : 2752285285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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140 -
120
120 - A
100 - g,n -_.{-'
80 -
E Eu |
40 -

20 -

0

re

1939 2000 2001

2002

2003 2004 2005 2006 2007

Options :
1. ¥ 2004
2. % 2001
3. % 2011
4. % 2003

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

General Hindi

4
275228176
0

0

No

No

0

20

No



General Hindi

Section Id : 275228278
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228333
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 2752285286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad vy 8, IR fosddl T 9, 39 fdded &1 98- B off HI¥d T fAU U Weg o 3UR ARV & U ara fadwed 71|
SATATRIT &1 (Hiast) Tde el TRH gidl 8|

Options :

1. % TUMdIdh
2. ¢ YdYdrad
3. % AIdHS
4. % HWHTATID

Question Number : 61 Question Id : 2752285286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy ¥, IR fowddl T 9, 39 fdded &1 98- & off HIgd H AU U Xeg o 39R ARV & W ara fadwed 81|
TRt 1 (Hiast) Tdg e TRA g 3 |

Options :




1. % TUIATEh

2. ¢ dYdrash
3. % TGIHD
4. % JWRHAIH

Question Number : 62 Question Id : 2752285287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR fawed! 7 9, 39 [dded &1 997 &< Sl 4R Weg 1 Hal fabed gl
Options :

1. % puf

2. % WoR

3. ¥ gPbH

4. ¥ ccg

Question Number : 62 Question Id : 2752285287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowed! & T, 39 faded &1 999 &% Sl “IRIo” Xeq BT Aal [dhed 8l
Options :

1. % df

2. % GoR

3. ¥ gPbH

4. ¥ Ccg

Question Number : 63 Question Id : 2752285288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad us H, IR fadbedl | 4, 39 fdhey &1 =99 o Sl 13T 7T Weg & fo1T Het agsiie AN & faUg o1 fddbed 81|
[BRICH




Options :

1. % g gad [deR01 4 aral

2. % R &1 faaR®

3. « o7 & faeRur A arer siufd e
4. % 1 9 foeRe®

Question Number : 63 Question Id : 2752285288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy d, IR fasedl B 9, 39 fdded &1 98 & ol faU U Weg & o1t Jegt agsife TH™ o faUg &1 fabed 31|
BEUERN

Options :

1. % g gad [deRu1 SR aral

2. % 0 &7 fdaR®

3. « e & fo=Rur B arer siufd e
4. % (R 9 foarR®

Question Number : 64 Question Id : 2752285289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRad Uy |, IR fddeul 7 9, 39 fdwed &1 999 33 ol faT U Ueg T ddH U Bl |
RIEI

Options :

1. # YId

2. % b

3. ¥ O=lgd

4. % TuUT

Question Number : 64 Question Id : 2752285289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFfRad U |, IR fddeul 7 9, 39 fdwmed &1 999 3 ol feT U Wsg T ddH U Bl |
BIEL

Options :

1. % OTd

2. % b

3. % gIU-q

4. % gyur

Question Number : 65 Question Id : 2752285290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed oy & aR fawed # 9, 39 el faswed &1 997 &< S Rad RIM & o Iugad e &1 e} fawed § |
YRTT Tpid Bt 3ot 3 g

Options :

1. # HMHAAdI
A CRILGIY
3. % Hgw@yul
4. % difq

Question Number : 65 Question Id : 2752285290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy & IR fawedl 8 9, 39 el [dded &1 997 & Sl Rad RIF & oY Iugad e &1 el fddved © |
YRATT Tpid B 3T 3Fh g

Options :

1. % HHddT
2. ¢ faRIvamy
3. % Hg@yul




4. % Hifa

Question Number : 66 Question Id : 2752285291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § 9, 39 fadmed &1 9g &1 off U U Weg T & 31 &1 qE} famed g
T-u

Options :

1. % g 3R U
2. % dge 3R AT
3. ¢ fauia 3R diuss
4. % Ui 3R 3mem

Question Number : 66 Question Id : 2752285291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o, TR fadwenl § 9, 39 [9wed &1 7o &1 S foU T8 Wsg g & o o1 a8l fawea g |
Te-udia

Options :

1. % A 3R Uk
2. % g 3R AT
3. ¢ faudia 3R ue
4. % fudiq sk smem

Question Number : 67 Question Id : 2752285292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & IR fawedl § 9, 39 fadmed &1 78 &1 off G Ve &1 Jal Ao g
Options :

1. ® g




2. % gD
3.« gl
4. % grAHBI

Question Number : 67 Question Id : 2752285292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 8, IR s el & 9, 39 fddhed &1 999 B Sl YG eg BT el [ddhed |
Options :

1. % qrfeHab!

2. % qredipt

3. ¢ dIcHlh

4. % eIt

Question Number : 68 Question Id : 2752285293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 o o1 987 &Y ot 2T 7T Yo & JAMT Weg 1 faheu AT B
Qg -2

Options :

1. % Tl
2. ¥ DIRd
3. % gd
4. % 39

Question Number : 68 Question Id : 2752285293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR ieedl 7 9, 39 foweu &1 97 &% &t feT 7T Yo & JAMT Weg &1 fapeu A B |
Wg -2




Options :

Question Number : 69 Question Id : 2752285294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 faewey &1 999 &3 Sl fIU 71U Wsg & 9ga9- U &1 Ja 33T fadhed g |
Hol

Options :
1. ¢ Y4
2. % Yl
3. % Yot
4. % e

Question Number : 69 Question Id : 2752285294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed oy o, IR fawed! & 9, 39 [9aed &1 997 &< ol faU 71U XMeg & Igaa U & Jad 3T fdaed 5|
=Gl

Options :
1. ¢ Yoy
2. % Yol
3. % Yomar
4, % ST

Question Number : 70 Question Id : 2752285295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

?ﬂ%ﬂ@au&rﬁ,%rﬂﬁmq‘fffﬁ,wﬁwmwﬁﬁﬁwﬁﬁww%mnmwmﬂéﬂmmmwﬁw
I

Options :

1. % gl

2. % 3D

3. dH

4. % g

Question Number : 70 Question Id : 2752285295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@au%ﬁ,mﬁmﬁﬁ@r,wﬁmwwwﬂ H ol HIFD U QT T e & TR T Yo I Ja-TH BT Ia 33T fadheq
|

Options :
1. % STl
2. % YD
3. dH
4. % T

Question Number : 71 Question Id : 2752285296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiRed Uy |, IR [ddwedl 7 9, 39 fddhed &1 999 &2 o1l fGTU TN 9190 & &1d &1 el f[dwed 8|
gfe Wl & I W U e ST df Wd el q@d |

Options :

1. % Ifer gdamsa
2. % 3l qAHFBA
3. % U Hid=ddhra
4.+ gdeqye Yddld




Question Number : 71 Question Id : 2752285296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwel 7 ¥, 39 fdded &1 999 &3 o1l fGT TN 9190 & &1d &1 Hal f[dwed 8|
gfe Wl &I T WR U e Srar at dd ) g |

Options :

1. % i gdaHSTd
2. % 3quf gHM®GE
3. % Y Yiddera
4. ¥ TIBQHG HAPT

Question Number : 72 Question Id : 2752285297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fawed! & 4, 39 fdwed &1 99+ &< Sl fav g god ot &1 agt fadhed |
Options :

1. % P& 1 A fagE e a1 sfHRmy favg IR e fera & faw o

2. ¢ D& H Rigfep = o dRaM a1 sifyRmy favyg oR ey fera & faw el

3. % e d e = - fagm axaH ar iy fowg iR ey foreq o fore warl

4. % oY e 7, fagM aRam a1 sy, fawg iR ey ferga & fore o

Question Number : 72 Question Id : 2752285297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad Uy O, aR faswed! & 4, 39 fdeed &1 99 &< Sl fav1 fag god a1 &1 Tgt faddhed 8|
Options :

1. % P e A fag@ e a1 iRy fawg IR Hey fera= & faw e

2. ¢ He H R1efep = o aRe a1 iRy favg oR ey foeram & faw a1l

3. % me H e = - fagm aveH ar Siftemyg fowg wR Mey forga o fore wanl




4. % BT ¥ e 7, fo7 ave a1 sifvyeiy, favg wr Ay fogq & faw wa1|

Question Number : 73 Question Id : 2752285298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fadhed &1 70 &1 off T 7T YeTar &1 "t 31 arar fadwea 7
LI EE MR

Options :

1. ¢ B3 URSH BT
PARRCICIEIGI

3. % I AT

4. % HgTddl oAl

Question Number : 73 Question Id : 2752285298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa uy & TR fawe # ¥, 39 fadwen &1 7o &% off 3T U YeTar &1 "t 3 arar fadweu 71
PICENEI

Options :

1. ¢ B3 URSH BT
2. % M1 dATHT

3. % I AT

4. % ggIadl bl

Question Number : 74 Question Id : 2752285299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fadhed &1 78 &1 off T 7T YeTar &1 "t 31 ara fadwea 7

TSl IBTAT




Options :

1. % ORI 8 HRAT
2. % DI HAT

3. % W SR =l
4. ¢ TSI HRAT

Question Number : 74 Question Id : 2752285299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad oy & o fawedl § 9, 39 fadmed &1 7 &1 off 3T 7T YeTar &1 "t 3 arar fadweu 7

TSl IBTAT
Options :

1. % TR & HRAT
2. % DI HAT

3. % FRI SR =T
4. ¥ ST DHRAT

Question Number : 75 Question Id : 2752285300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed uy §, IR Reeal 7 9, 39 fdmca o1 987 &3 oY <t 715 Aldbifad &1 agt 3 I s eu g1
Ug TR - T

Options :

1. % it fa @ rd B
2. % glayr g ge

3. ¢ 3YdeH B

4. % g &1 90 T8l g

Question Number : 75 Question Id : 2752285300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Fofifed uy §, IR Reeal 7 9, 39 fdhcd &1 987 &3 oY <t 715 Aldbifad &1 agt 3 arar s eu g1
Ug TR - T

Options :
1. % i i Q@ Hd BT
2. % glayr g ge

3. ¢ 3YdeH B

4. % Gl BT GHM T8I g

Sub-Section Number : 2
Sub-Section Id : 275228334
Question Shuffling Allowed : No

Question Id : 2752285301 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (76 to 80)

9 fou T T Y Y U¢ SR 9R faw e § O UQd Uy HT arad SR g |

T §R AR ATH 1 Teb gl U SiTel § SIS 1-sffcdl bl @Iel § 7171 63 fall dep g fafHel YR B SIS1-gfedl - Thiad bRl 6T
Wqﬁﬁqm&mwffﬁﬁaﬁaﬁm-&%—gg&nwm I 3D Sfal-gcdl ThAd dHR off At | ST UG U1 a8 | I 3701
Ao T fewTs < X6t 2| difde a8 gov! ot 3R a8 AT Yed T, 31c: 39 o) [AYTH - &1 [+ fordm | ura: &1 O: 9 ua|
T T R 3G U 1 WIS B fobe] e I8T| Yheh Teb J& & Hid fIHTH B 11 SR I UHI B 6 Hegd $i | ST US
I TRIT ISR ST ST 3R IH oI U Ad B @l | Afch il T dldl 2-¢ Rl 31T SR 39T g1 R feam | T & 39 81d WR
98 id I AR BT YAR] b @ifch1 I8 I I8 1| I8 Tl ol IHbT SitaT e UT| HISH STel TR Teh HGHR 3SR A1 I6T YT, d U b
§¢ T8t afcsp 3R & Yg ¥ Frad! STedicl ar 2| 98 T o1 3R did &1 80 ¥ 4=9aTe ¢ 8T UT| IS 311oT a8 A% H dld &I AR T
a1 BT BT T ) 0T af, T it 30 Sfta T 81U ¢ S3dT| SR 8t 3% ged 3 el “Siiad H iy TR =y 3awass g 17

Sub questions

Question Number : 76 Question Id : 2752285302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R fHY HRUT Y S 1T U2
Options :



1. % ORI Bl ST
2. ¢ J31-gfeal @ioH
3. % g

4. % QTN gar oA

Question Number : 77 Question Id : 2752285303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR ST H vfafe ford S8R &1 Ja el U1
Options :

1. % Har

2. % WYATIGM

3. % 94

4. ¢ Heqd

Question Number : 78 Question Id : 2752285304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T & MYR TR 1 o1 g At g2
Options :

1. % ST 3{dhdl el ofT a6y

2. % Hol Y SITd 9T WHI-UHT 91y H 19471 91T
3. ¢ DY R 0 g TRy

4. % Hgl 1} Sied! dte 3T ey

Question Number : 79 Question Id : 2752285305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 9 DI T 38 BT Hel [IaH Ueg 82

Options :
1. % Y
2. ¥ YD



3. % gUGq

4, % Jbc

Question Number : 80 Question Id : 2752285306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 3G Pl Blg IUYeK Yiyep FaTd|
Options :

1. ¥ 1Y TR =00

2. % ST BT Eg

3. % GTQ] d STol-§cl

4. % G0 g U

Question Id : 2752285301 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (76 to 80)

9 fou T T Y Y U¢ SR 9R faw e § O UQd Uy HT arad SR g |

T SR AR ATH &1 Teb gl U SiTel § SIS 1-sffcdl bl @Il § 7171 63 fall dep g fafHel YR B SIS1-gfedl - Thiad bRl 6T
DT UfafeT 1 MR ST T 81 Fe dTel dhra-a §3 HRd 1 3T 3! Sial-gfedl ThfAd R off | IS1 U8d U1 98 | 39 Ul
Ao T fewTs < X6t 2| difde a8 gov! ot 3R a8 AT Yed T, 31c: 39 o) [AYTH - &1 [+ fordm | ura: &1 O: 9 ua|
T T R 3G U 1 WIS B fobe] e I8T| Yheh Teb J& & Hid fIHTH B 11 SR I UHI B 6 Hegd $i | ST US
I TRIT ISR ST ST 3R IH oI U Ad B @l | Afch il T dldl 2-¢ Rl 31T SR 39T g1 R feam | T & 39 81d WR
98 id I AR BT YAR] b @ifch1 I8 I I8 1| I8 Tl ol IHbT SitaT e UT| HISH STel TR Teh HGHR 3SR A1 I6T YT, d U b
§¢ T8t afcsp 3R & Yg ¥ Frad! STedicl ar 2| 98 T o1 3R did &1 80 ¥ 4=9aTe ¢ 8T UT| IS 311oT a8 A% H dld &I AR T
a1 BT T T ) <0 af, T it 30 Sfta T 81U &) S3dT| SR 8t 3% ged 3 el “Siiad H iy TR =0y g g 17

Sub questions

Question Number : 76 Question Id : 2752285302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R fHY HRUT Y S 1T U2
Options :



1. % ORI Bl ST
2. ¢ J31-gfeal @ioH
3. % g

4. % QTN gar oA

Question Number : 77 Question Id : 2752285303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR ST H vfafe ford S8R &1 Ja el U1
Options :

1. % Har

2. % WYATIGM

3. % 94

4. ¢ Heqd

Question Number : 78 Question Id : 2752285304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T & MYR TR 1 o1 g At g2
Options :

1. % ST 3{dhdl el ofT a6y

2. % Hol Y SITd 9T WHI-UHT 91y H 19471 91T
3. ¢ DY R 0 g TRy

4. % Hgl 1} Sied! dte 3T ey

Question Number : 79 Question Id : 2752285305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 9 DI T 38 BT Hel [IaH Ueg 82

Options :
1. % Y
2. ¥ YD



3. % gUGq

4, % Jbc

Question Number : 80 Question Id : 2752285306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T STWT BT PIs ST P T
Options :
1. ¢ Iy IR gz
2. ® ST &1 T
3. % GTQ] d STol-§cl
4. % QO U
General English
Group Number : 5
Group Id : 275228177
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English
Section Id : 275228279
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228335
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 2752285307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Mason was quoted saying that, "Our physical science/ is not a deductive system, but a series of generalizations/ based in observation of finite
modes."

Options :

1. ¥ Mason was quoted saying that, "Our physical science

2. % is not a deductive system, but a series of generalizations
3. ® based in observation of finite modes."

4. ¥ No Error

Question Number : 81 Question Id : 2752285307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Mason was quoted saying that, "Our physical science/ is not a deductive system, but a series of generalizations/ based in observation of finite
modes."

Options :
1. ¥ Mason was quoted saying that, "Our physical science
2. % is not a deductive system, but a series of generalizations

3. % based in observation of finite modes."



4. % No Error

Question Number : 82 Question Id : 2752285308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

There was an increased risk/ to the baby's health but/ it was a multiple birth.
Options :

1. # There was an increased risk

2. ¥ to the baby's health but

3. # it was a multiple birth.

4. * No Error

Question Number : 82 Question Id : 2752285308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

There was an increased risk/ to the baby's health but/ it was a multiple birth.
Options :

1. % There was an increased risk

2. ¥ to the baby's health but

3. % it was a multiple birth.

4. % No Error

Question Number : 83 Question Id : 2752285309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



(By 1904 over 37,000 summonses for unpaid school taxes) were issued, with thousands having their property seized and 80 protesters going to
prison.

Options :

1. #® By 1904 over 37,000 summons for unpaid school taxes
2. % Until 1904 over 37,000 summons for unpaid school taxes
3. # Until 1904 just 37,000 summons for unpaid school taxes

4. ¥ No correction required

Question Number : 83 Question Id : 2752285309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(By 1904 over 37,000 summonses for unpaid school taxes) were issued, with thousands having their property seized and 80 protesters going to
prison.

Options :

1. # By 1904 over 37,000 summons for unpaid school taxes
2. % Until 1904 over 37,000 summons for unpaid school taxes
3. % Until 1904 just 37,000 summons for unpaid school taxes

4. ¥ No correction required

Question Number : 84 Question Id : 2752285310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

If unsuccessful, (he would be expected to dispose several) properties to pay down debt.
Options :

1. #® he was expected to dispose several

2. ¥ he is expected to dispose of several

3. # he will be expected to dispose several

4. ® No correction required



Question Number : 84 Question Id : 2752285310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

If unsuccessful, (he would be expected to dispose several) properties to pay down debt.
Options :

1. # he was expected to dispose several

2. ¥ he is expected to dispose of several

3. % he will be expected to dispose several

4. # No correction required

Question Number : 85 Question Id : 2752285311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The foreigner’s emotions made him wonder if coming to the United States was a right decision.
Options :

1. # fevering

2. ¥ wavering

3. * manoeuvring

4. % hovering

Question Number : 85 Question Id : 2752285311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The foreigner’s emotions made him wonder if coming to the United States was a right decision.
Options :



1. # fevering
2. ¥ wavering
3. ¥ manoeuvring

4. # hovering

Question Number : 86 Question Id : 2752285312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

When Matt’s parents used their to build the school's new facility, Matt was quickly admitted to the college.
Options :

1. # confluence

2. # inconsequence

3. ¥ congruence

4. ¢ affluence

Question Number : 86 Question Id : 2752285312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

When Matt’s parents used their to build the school's new facility, Matt was quickly admitted to the college.
Options :

1. # confluence

2. # inconsequence

3. ® congruence

4. ¢ affluence

Question Number : 87 Question Id : 2752285313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts



can be rearranged to form a meaningful and grammatically correct sentence.
Nevertheless, through the

P. ambiguous, assurance of
Q. could ensure some, if
R. Delphic oracle, the polis
S. the correctness of

its religious discourse.
Options :

1. % SRQP

2. % PQRS

3. ¥ RQPS

4. % SPQR

Question Number : 87 Question Id : 2752285313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Nevertheless, through the

P. ambiguous, assurance of
Q. could ensure some, if
R. Delphic oracle, the polis
S. the correctness of

its religious discourse.
Options :

1. ®* SRQP

2. # PQRS

3. ¥ RQPS

4. % SPQR



Question Number : 88 Question Id : 2752285314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is SYNONYM (similar in meaning) to the word given below.

recondite
Options :

1. ¥ concealed
2. # obvious

3. # simple

4. # abandoned

Question Number : 88 Question Id : 2752285314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is SYNONYM (similar in meaning) to the word given below.

recondite
Options :

1. ¥ concealed
2. # obvious

3. % simple

4. # abandoned

Question Number : 89 Question Id : 2752285315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is ANTONYM (opposite in meaning) to the word given below.

meticulous
Options :
1. #* appreciative
2. # differential



3. # obeisant

4. ¥ sloppy

Question Number : 89 Question Id : 2752285315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is ANTONYM (opposite in meaning) to the word given below.

meticulous
Options :

1. # appreciative
2. * differential
3. ¥ obeisant

4. ¥ sloppy

Question Number : 90 Question Id : 2752285316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. #* inadvartent

2. % inadverent

3. # inadvarent

4. ¥ inadvertent

Question Number : 90 Question Id : 2752285316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # inadvartent

2. % inadverent



3. * inadvarent
4. % inadvertent

Question Number : 91 Question Id : 2752285317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # aberrent

2. # aberant

3. % aberent

4. ¥ aberrant

Question Number : 91 Question Id : 2752285317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % aberrent

2. # aberant

3. % aberent

4. ¥ aberrant

Question Number : 92 Question Id : 2752285318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Crack someone up
Options :
1. % A situation involving a narrow escape from danger

2. ¥ To make someone laugh



3. # Any difficult situation or obstacle

4. ® Intentionally raise a false alarm

Question Number : 92 Question Id : 2752285318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Crack someone up

Options :

1. # A situation involving a narrow escape from danger
2. ¥ To make someone laugh

3. % Any difficult situation or obstacle

4. % Intentionally raise a false alarm

Question Number : 93 Question Id : 2752285319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the given idiom.
Gird up the loin

Options :

1. # Put yourself in a tough position in order to support someone/ something
2. # Surrender

3. ¥ To be ready

4. % Get fired from the job

Question Number : 93 Question Id : 2752285319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the given idiom.
Gird up the loin

Options :
1. # Put yourself in a tough position in order to support someone/ something



2. % Surrender
3. % To be ready
4. # Get fired from the job

Question Number : 94 Question Id : 2752285320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate 'one word ' for the expressions given below.
Treating something or someone with lack of seriousness ordue respect

Options :
1. % Lull
2. ¥ Levity
3. % Lustre
4. # Laurel

Question Number : 94 Question Id : 2752285320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate 'one word ' for the expressions given below.
Treating something or someone with lack of seriousness ordue respect

Options :
1. % Lull
2. ¥ Levity
3. % Lustre
4. # Laurel

Question Number : 95 Question Id : 2752285321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate 'one word ' for the expressions given below.
A building or buildings occupied by a community of monks living under religious vows

Options :
1. ¥ Monastery



2. % Monarchy
3. ® Misnomer

4. ¥ Menagerie

Question Number : 95 Question Id : 2752285321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate 'one word ' for the expressions given below.
A building or buildings occupied by a community of monks living under religious vows

Options :

1. ¥ Monastery
2. % Monarchy
3. ¥ Misnomer

4. ¥ Menagerie

Sub-Section Number : 2
Sub-Section Id : 275228336
Question Shuffling Allowed : No

Question Id : 2752285322 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (96 to 100)
Read the passage carefully and choose the best answer to each question out of the four alternatives.

"Anne," cried Mary, still at her window, "there is Mrs Clay, I am sure, standing under the colonnade, and a gentleman with her. I saw them turn
the corner from Bath Street just now. They seemed deep in talk. Who is it? Come, and tell me. Good heavens! I recollect. It is Mr Elliot himself."
"No," cried Anne, quickly, "it cannot be Mr Elliot, I assure you. He was to leave Bath at nine this morning, and does not come back till
tomorrow." As she spoke, she felt that Captain Wentworth was looking at her, the consciousness of which vexed and embarrassed her, and made
her regret that she had said so much, simple as it was.

Mary, resenting that she should be supposed not to know her own cousin, began talking very warmly about the family features, and protesting
still more positively that it was Mr Elliot, calling again upon Anne to come and look for herself, but Anne did not mean to stir, and tried to be
cool and unconcerned. Her distress returned, however, on perceiving smiles and intelligent glances pass between two or three of the lady visitors,
as if they believed themselves quite in on the secret. It was evident that the report concerning her had spread, and a short pause succeeded, which
seemed to ensure that it would now spread farther.

"Do come, Anne" cried Mary, "come and look yourself. You will be too late if you do not make haste. They are parting; they are shaking hands.
He is turning away. Not know Mr Elliot, indeed! You seem to have forgot all about Lyme." To pacify Mary, and perhaps screen her own



embarrassment, Anne did move quietly to the window. She was just in time to ascertain that it really was Mr Elliot, which she had never
believed, before he disappeared on one side, as Mrs Clay walked quickly off on the other; and checking the surprise which she could not but feel
at such an appearance of friendly conference between two persons of totally opposite interest, she calmly said, "Yes, it is Mr Elliot, certainly. He
has changed his hour of going, I suppose, that is all, or I may be mistaken, I might not attend;" and walked back to her chair, recomposed, and
with the comfortable hope of having acquitted herself well.

Sub questions

Question Number : 96 Question Id : 2752285323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who saw Mrs. Clay, standing under the colonnade, and a gentleman with her?
Options :

1. ¥ Mary

2. % Anne

3. # Mr. Elliot

4. # Captain Wentworth

Question Number : 97 Question Id : 2752285324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Anne, why couldn't it be Mr. Elliot who was with Mrs. Clay?

Options :

1. ¥ Because Mr. Elliot was at work in Bath.

2. ¥ Because he was supposed to leave the city that morning at 9 and wasn't going to return later next day.
3. % Because Mr. Elliot was standing beside Anne staring at her.

4. % Because Mary had mistaken Captain Wentworth for Mr. Elliot.

Question Number : 98 Question Id : 2752285325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is her in the line "Her distress returned, however, on perceiving smiles and intelligent glances pass between two or three of the lady visitors,
as if they believed themselves quite in on the secret."?

Options :

1. # Mary's cousin



2. # Mrs. Clay
3. % Anne
4. ¥ Mary

Question Number : 99 Question Id : 2752285326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect?

Options :

1. # Mrs Clay, was seen standing under the colonnade with Mr. Elliot.

2. % The girls had mistaken Mrs. Clay to be with Mr. Elliot when she was with someone else.
3. % Anne felt she spoke too much when Captain Wentworth started staring at her.

4. ¥ Mary first spotted Mr. Elliot in a deep conversation with Mrs. Clay.

Question Number : 100 Question Id : 2752285327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is Mary's cousin?

Options :

1. ¥ Mr. Elliot

2. # Mrs. Clay

3. % Anne

4. # Captain Wentworth

Question Id : 2752285322 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (96 to 100)
Read the passage carefully and choose the best answer to each question out of the four alternatives.

"Anne," cried Mary, still at her window, "there is Mrs Clay, I am sure, standing under the colonnade, and a gentleman with her. I saw them turn
the corner from Bath Street just now. They seemed deep in talk. Who is it? Come, and tell me. Good heavens! I recollect. It is Mr Elliot himself."
"No," cried Anne, quickly, "it cannot be Mr Elliot, I assure you. He was to leave Bath at nine this morning, and does not come back till
tomorrow." As she spoke, she felt that Captain Wentworth was looking at her, the consciousness of which vexed and embarrassed her, and made
her regret that she had said so much, simple as it was.



Mary, resenting that she should be supposed not to know her own cousin, began talking very warmly about the family features, and protesting
still more positively that it was Mr Elliot, calling again upon Anne to come and look for herself, but Anne did not mean to stir, and tried to be
cool and unconcerned. Her distress returned, however, on perceiving smiles and intelligent glances pass between two or three of the lady visitors,
as if they believed themselves quite in on the secret. It was evident that the report concerning her had spread, and a short pause succeeded, which
seemed to ensure that it would now spread farther.

"Do come, Anne" cried Mary, "come and look yourself. You will be too late if you do not make haste. They are parting; they are shaking hands.
He is turning away. Not know Mr Elliot, indeed! You seem to have forgot all about Lyme." To pacify Mary, and perhaps screen her own
embarrassment, Anne did move quietly to the window. She was just in time to ascertain that it really was Mr Elliot, which she had never
believed, before he disappeared on one side, as Mrs Clay walked quickly off on the other; and checking the surprise which she could not but feel
at such an appearance of friendly conference between two persons of totally opposite interest, she calmly said, "Yes, it is Mr Elliot, certainly. He
has changed his hour of going, I suppose, that is all, or I may be mistaken, I might not attend;" and walked back to her chair, recomposed, and
with the comfortable hope of having acquitted herself well.

Sub questions

Question Number : 96 Question Id : 2752285323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who saw Mrs. Clay, standing under the colonnade, and a gentleman with her?
Options :

1. ¥ Mary

2. % Anne

3. ¥ Mr. Elliot

4. % Captain Wentworth

Question Number : 97 Question Id : 2752285324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Anne, why couldn't it be Mr. Elliot who was with Mrs. Clay?

Options :

1. * Because Mr. Elliot was at work in Bath.

2. % Because he was supposed to leave the city that morning at 9 and wasn't going to return later next day.
3. # Because Mr. Elliot was standing beside Anne staring at her.

4. % Because Mary had mistaken Captain Wentworth for Mr. Elliot.

Question Number : 98 Question Id : 2752285325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Who is her in the line "Her distress returned, however, on perceiving smiles and intelligent glances pass between two or three of the lady visitors,
as if they believed themselves quite in on the secret."?

Options :

1. # Mary's cousin
2. % Mrs. Clay

3. ¥ Anne

4. % Mary

Question Number : 99 Question Id : 2752285326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect?

Options :

1. # Mrs Clay, was seen standing under the colonnade with Mr. Elliot.

2. ¥ The girls had mistaken Mrs. Clay to be with Mr. Elliot when she was with someone else.
3. # Anne felt she spoke too much when Captain Wentworth started staring at her.

4. % Mary first spotted Mr. Elliot in a deep conversation with Mrs. Clay.

Question Number : 100 Question Id : 2752285327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is Mary's cousin?

Options :

1. ¥ Mr. Elliot

2. % Mrs. Clay

3. % Anne

4. # Captain Wentworth
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Question Number : 101 Question Id : 2752285328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Libraries plays a very important role in fostering the development of the students.
Options :

1. # Psychological

2. % Physical

3. ¥ Intellectual

4. # Spiritual



Question Number : 101 Question Id : 2752285328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EIEIK] 4T P! Fgrdl ¢4 H A Tad §gd Hedqu! YfAeT fAuTdh g
Options :

1. % TS

2. % Yifaw

3. ¢ ggoiiid

4. % 31D

Question Number : 102 Question Id : 2752285329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

____refers to any society where knowledge is the primary production resource instead of capital and labour.
Options :

1. ¥ Knowledge Society

2. # Information Society

3. % Industrial Society

4. ¥ Agricultural Society

Question Number : 102 Question Id : 2752285329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol T A &1 A fifd o § S8t Yol 3T 91 & oI I UTUfie Sdied SureH g
Options :
1. & AT JHIS
2. % IAI-HHS
3. % e FHTS

4, % SN O



Question Number : 103 Question Id : 2752285330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
plays an important role in supporting the educational and research activities of the society.
Options :
1. #* Professional organizations
2. # Financial institutions
3. % Industrial establishments
4. ¥ Libraries

Question Number : 103 Question Id : 2752285330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS &1 e 3R U fafafial &1 0T e 8§ Tgayul yfe Ay gl
Options :
1. % ORI 6
2. % foitg =T
3. % IR ufag™
4.« QPRI

Question Number : 104 Question Id : 2752285331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The oldest and the largest library association in the world is
Options :

1. % TASLIC

2.% ALA

3. % LA

4. % ILA

Question Number : 104 Question Id : 2752285331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

% BT JTY RAT 3R T F3T DT Y gl
Options :

1. % TASLIC

2.% ALA

3. % LA

4, % ILA

Question Number : 105 Question Id : 2752285332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Public libraries are having a research role especially in the field of
Options :

1. # Linguistics

2. # Information Science

3. ® Audio and video media

4. % Social science and humanities

Question Number : 105 Question Id : 2752285332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EAS® abadl &) RN ® Y & &7 0 0y Yd gl
Options :

1. % YT

2. % Yo fag

3. % Sfifsar 3R difgar Hifsan

4. ¥ QTSI faH SR AT

Question Number : 106 Question Id : 2752285333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Academic libraries consists of School, College and libraries.



Options :

1. ¥ University
2. # Reviewer
3. # Public

4, % Research

Question Number : 106 Question Id : 2752285333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31U qRaeTad H faeed, Heifaened 3R JIHTad 8ld & |

Options :

1. ¢ fayfaemey
2. % faviy

3. % gdoHe®
4. % 3IAYH

Question Number : 107 Question Id : 2752285334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
percent of the annual school budget must be available for the library, besides capital cost of building, equipment and furniture.
Options :
1. # Five to ten
2. ¥ Ten to fifteen
3. # Fifteen to twenty
4. ¥ Twenty to thirty

Question Number : 107 Question Id : 2752285334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, JUHT 3R R &1 USiNTd ANTd & SfTdl, i faenera seie &1 gf=Id TidbIad & ol Suds g1 anigu|

Options :




1. % gra 9 g
2. ¥ TH Y UgE
3. % gy dg
4. % I

Question Number : 108 Question Id : 2752285335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who thought first about library legislation in India?
Options :

1. # Borden

2. % Kesavan

3. ¥ Ranganathan

4. % Dikinson

Question Number : 108 Question Id : 2752285335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T URd & T S & IR § a3 Ugd Il 12
Options :

1. % §re4

2. % HYad

3. & JEYA

4. % 1&fdhae

Question Number : 109 Question Id : 2752285336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The state that enacted library legislation in 1965 is
Options :

1. ¥ Karnataka



2. # Haryana
3. ® Goa
4. ¥ Manipur

Question Number : 109 Question Id : 2752285336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1965 & AN CANDCAL ] S 9Tl I % |

Options :
1. ¢ FleH
2. % gigrm
3. % Tl
4. % AOTQR

Question Number : 110 Question Id : 2752285337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The communication process begins with a
Options :

1. % Source

2. % Channel

3. ¥ Sender

4. % Entropy

Question Number : 110 Question Id : 2752285337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR ufgan YYE B Bl
Options :

1. % Hid

2. % o=d



3.« Y&
4. % TC[dt

Question Number : 111 Question Id : 2752285338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shannon-Weaver model of communication is
Options :

1. # General model

2. # Semantic model

3. % Technical model

4. % Social model

Question Number : 111 Question Id : 2752285338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR HT A-daR Hisd gl
Options :

1. % g HiSd

2. % ¥yHfes Alsd

3. ¢ APhHIDI Hied

4. % D Hled

Question Number : 112 Question Id : 2752285339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ideas, theories, hypotheses about relationship which exists among variables is known as information.
Options :

1. ¥ Conceptual

2. # Procedural

3. # Policy



4. ¥ Empirical

Question Number : 112 Question Id : 2752285339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey & TR # faaR, Rigid, tReea 1 ol == & d9 ANE B, I & =0 & ST S g
Options :

1. ¢ YT HD

2. # YfehdTcHeh

3. % Hifd

4. % YOG

Question Number : 113 Question Id : 2752285340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who describes librarianship “as a noble and service oriented profession which encourages all types of reading and education"?
Options :

1. ¥ R.L. Mittal

2. % PN. Kaul

3. ® Danton

4. ® Mayers

Question Number : 113 Question Id : 2752285340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P QDTS B "Th HeM 3R JaT 39 U & FY H afofd Hdl g off O+ UHR & 3eqg- 3R e &I Uieied a1 g2
Options :

1. ¢ 3R, fre

2. % ULTA. 31

3. % Sed

4. % OOy




Question Number : 114 Question Id : 2752285341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who started first school in librarianship in the world?
Options :

1. ¥ Melvil Dewey

2. % C.A. Cutter

3. % F.W. Rider

4. % J.D. Brown

Question Number : 114 Question Id : 2752285341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay O QRabTaaremed 8 uyw e foa uRyY fahar
Options :

1. ¢ Afcqe St

2. % YT PR

3. ¥ Th. 8 TS

4. % S S ST3H

Question Number : 115 Question Id : 2752285342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Colon classification 6 edition is
Options :

1. * Enumerative

2. % Almost enumerative

3. # Rigidly faceted

4. ¥ Freely faceted



Question Number : 115 Question Id : 2752285342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI FBIT 657 TDHRUT gl
Options :

1. % QRO

2. % YT YRATOMT

3. % F&il Y Baidd

4. ¢ WA U Y o

Question Number : 116 Question Id : 2752285343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The method for mapping the universe of subjects in colon classification is
Options :

1. # Enumerative

2. ¥ Faceted

3. ¥ Hierarchical

4. % Notational

Question Number : 116 Question Id : 2752285343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % QRO

2. ¢ Bdicd

3. ® UalddhH

4. % 3{H

Question Number : 117 Question Id : 2752285344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of 'Literary Warrant" was introduced by
Options :

1. ¥ E.W. Hulme

2. # S.R. Ranganathan

3. % Melvil Dewey

4. # ].D. Brown

Question Number : 117 Question Id : 2752285344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP TRT' Pt SAYRUN ERIERICIRIERT
Options :

1. ¥ 3 &Y, §H

2. % TSR T

3. % Hfead St

4. % SIS T3

Question Number : 118 Question Id : 2752285345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vroom's theory is related with

Options :

1. ¥ Communication

2. % Cataloguing

3. % Motivation

4. % (lassification

Question Number : 118 Question Id : 2752285345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=Y &1 gl ERSCIRGE
Options :

1. ® IOR

2. % TgAIHUl

3. ¢ S{YURTT

4. % BT

Question Number : 119 Question Id : 2752285346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Epidemic theory of literature growth was suggested by
Options :

1. ¥ M.B. Line

2. ¥ W. Goffman

3. % L.J. Murphy

4, % W. Weaver

Question Number : 119 Question Id : 2752285346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g f[dp ST HgMRI Rigid . gRI g il
Options :

1. % TH. A

2. ¢ S, MBEA

3. % TAS. 7T

4. % S, dloR

Question Number : 120 Question Id : 2752285347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mathematical theory of information was propounded by



Options :

1. # Shannon

2. % Weaver

3. % Shannon and Weaver

4. % Faittorne

Question Number : 120 Question Id : 2752285347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IET &1 TN Rigid eR1 ufauried favar war o)
Options :

1. % Q7

2. % gia¥

3. ¢ T AR AR

4. % BdH

Discipline2
Group Number : 7
Group Id : 275228179
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Discipline2

Section Id : 275228281



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228338
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 2752285348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In academic, special and to a large extent in public libraries the majority of readers approach documents on the basis of
Options :

1. ¥ Subject approach

2. % Author approach

3. % Language approach

4. # Title approach

Question Number : 121 Question Id : 2752285348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fTeHl #, faRIY SR FHIw! 8§ b ATdul-d JRabiadl § e ured & YR TR GXITA9N aP Ugdd g
Options :

1. ¢ faug Iury

2. % g U

3. % YN IUNTH

4. % w JUIH

Question Number : 122 Question Id : 2752285349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are three approaches to a document in the library: 1) approach; ii) title approach and; iii) subject approach.
Options :

1. # Book number

2. # (Class number

3. % Author

4. # Systematic

Question Number : 122 Question Id : 2752285349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qXIeTad B fdl gxdrael & - SUNTH §: i) JUNTH; ii) b IUTTH 3R iii) fawg IummH |
Options :

1. % Qo AT

2. % I AT

3. ¥ AED

4. % Ugfdes

Question Number : 123 Question Id : 2752285350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Organisation of knowledge in libraries and the subject approach to books was written by
Options :

1. ¥ H.E. Bliss

2. % W.C.B. Sayers

3. # E.C. Richardson

4. ¥ E.W. Hulme

Question Number : 123 Question Id : 2752285350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



XITad! B 1 BT 16 3R Tad! & vfd fawg urm SR forar T Tl
Options :

1. ¥ a3, f&m

2. % &g LS IOy

3. % 3. Resa

4. % 3 3=Y, gH

Question Number : 124 Question Id : 2752285351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Notation is defined as 'shorthand sign' by
Options :

1. # Ranganathan

2. # Sayers

3. % Bliss

4. ¥ Richardson

Question Number : 124 Question Id : 2752285351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fep B SR 3R g & =0 & uRuifiid fear man g1
Options :

1. % JERA

2. % Tgy

3. % forg

4. ¢ R

Question Number : 125 Question Id : 2752285352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the seventh edition of CC the connecting symbol for phase relation is



Options :
1. # Zero
2. % Ampersand
3. % Dot

4. % Comma

Question Number : 125 Question Id : 2752285352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CC & Idd Y H el Tay & forw Taih Uchtes gl
Options :

1. =

2. ¥ THRYS

3. % fdg

4. % 3fcUfaRTH

Question Number : 126 Question Id : 2752285353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Class numbers 551, 2, 951 are some example of
Options :

1. # Mixed notation

2. ¥ Pure notation

3. % Faceted notation

4. % Group notation

Question Number : 126 Question Id : 2752285353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT 551, 2, 951 & FS IaERU gl
Options :



Question Number : 127 Question Id : 2752285354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
notation is used in Universal Decimal Classification.
Options :
1. # Pure
2. ¥ Mixed
3. % Rigid
4. % Faceted

Question Number : 127 Question Id : 2752285354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S gRHAd aTieHRor o 3f1 BT STANT T STl 5|
Options :

1. * Y

2.« THigd

3. % HOR

4. % halidhd

Question Number : 128 Question Id : 2752285355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I GRMEd TR (UDC) TSt GRT TR &1 75 5

Options :

1. ® Afcaq g4t



2.+ Tid 3Ncdc 3R o Bl
3. % WY
4. % TpHIC IFST

Question Number : 128 Question Id : 2752285355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Universal Decimal Classification (UDC) scheme devised by
Options :

1. % Melvil Dewey

2. ¥ Paul Otlet and La Fontain

3. ¥ Ranganathan

4. # Fremont Rider

Question Number : 129 Question Id : 2752285356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electronic version of DDC-20 edition was issued in 1993 on CD-Rom titled
Options :

1. # Dewey online

2. ¥ Electronic Dewey

3. % Dewey for Windows

4. % Decimal Classification

Question Number : 129 Question Id : 2752285356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DDC-20 BT ] SAFS D GBI 1993 H CD-IT W S I SR e T
Options :

1. % ST Sl

2. ¥ FAEI-eb Sdl



3. # {8y & forw St
4. % IYUAG BT

Question Number : 130 Question Id : 2752285357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fourth generation computers are
Options :

1. # high in cost

2. ¥ faster in speed

3. % small in memory

4. # large in size

Question Number : 130 Question Id : 2752285357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1Y TR & HHR gl
Options :

1. % I AN H

2. ¢ A H A

3. % HART A BI¢

4. % HRATS

Question Number : 131 Question Id : 2752285358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
computer is a combination of both analog and digital components.
Options :
1. ¥ Hybrid
2. % Digital
3. % Analog



4. % Micro

Question Number : 131 Question Id : 2752285358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR TN 3R fSfored il ges! &1 9o &
Options :
1. ¥ B3feS
2. # f8fored
3. % TN
4. % HISHI

Question Number : 132 Question Id : 2752285359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which was the first machine, to perform arithmetic and logical operations?
Options :

1. % UNIVAC

2. ¥ MARK I

3. # Analytical Engine

4. % EDUSAC

Question Number : 132 Question Id : 2752285359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BN 3R difches TATA B & forw Ugelt A=A i It i

Options :

1. % gMHd® (UNIVAC)

2. ¢ ATd [ (MARK 1)
3. % faRdVUTES S
4. % TGAP (EDUSAC)




Question Number : 133 Question Id : 2752285360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Library automation means use of to perform library activities.
Options :

1. ¥ computer

2. # machines

3. * automatic machines

4, % semi automatic machines

Question Number : 133 Question Id : 2752285360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QRAPTCT I B 31 §, QAT Ml I pA B T T IUANT BT
Options :

1. ¥ YR

2. % I

3. % TUTeId Al

4. % 31¢f TqdaTferd wRiH!

Question Number : 134 Question Id : 2752285361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ILMS stands for

Options :

1. ¥ Integrated Library Management Software
2. # Information Library Maintenance Software
3. # Integrated Library Management Systems

4. # International Library Management Software

Question Number : 134 Question Id : 2752285361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IMETATHTE (ILMS) BT FT B

Options :

1. Jgﬂﬁ%@ﬁ@éﬁﬁﬁaﬂzwﬁm
2. % ZARIATA AR HeAg TuedR
3. % IS AR HawHe ey

o3
4. % YA ASSR A C ITeaTR

+
A

Question Number : 135 Question Id : 2752285362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Libsys is a library automation software developed by
Options :

1. # Wipro Info Tech

2. % Datapro Consultancy

3. # Uptron India

4. ¥ Libsys Corporation

Question Number : 135 Question Id : 2752285362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafstd  gRIf4oRid Qoo Wadiierd JIeauR (qTssiy STCIHH Hitea) & |
Options :

1. % faoh Sl b

2. % ST dheed]

3. % 3{UciH Sfean

4. ¢ faaRg HIOR=HA

Question Number : 136 Question Id : 2752285363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A Set of programs for defining, creation maintenance and manipulation of a database is called as

Options :
1. ¥ DBMS
2. % RDMS
3. % DBA
4. % SQL

Question Number : 136 Question Id : 2752285363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STy &I IR A, AT IaATg 3R {0 & fore Hriel & JHg B HEI ST g |
Options :

1. ¥ DBMS

2. % RDMS

3. % DBA

4. % SQL

Question Number : 137 Question Id : 2752285364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are three types of DBMS available for a micro computer user are such as: 1) File management system; ii) Relational DBMS and; iii)

Options :

1. ¥ Network and hierarchical DBMS
2. % Storage and retrieval DBMS

3. % Word processing

4. % Basic software

Question Number : 137 Question Id : 2752285364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HTSoh! HUEEI SUANTEH I & Y oiF UHR & DBMS T g oiY: i) BI3d TS YUMeR; ii) YSUTR® DBMS 31R; iii)
Options :

1. ¥ S¢dd 3R GSTIHIHd DBMS

2. % HSRU 3R TUIWI DBMS

3. % Qe HIYT

4. * IR FroedwR

Question Number : 138 Question Id : 2752285365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Database Management system is a collection of
Options :

1. ¥ Programs

2. # Files

3. % Databases

4. % Software's

Question Number : 138 Question Id : 2752285365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST Yy Jumait EARPRA]
Options :

1.« Il

2. % Brgal

3. % gTled

4. % FUEAWR

Question Number : 139 Question Id : 2752285366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FDT stands for



Options :

1. ¥ Field Definition Table
2. # Format Design Table
3. # Field Design Table

4. % Format Detection

Question Number : 139 Question Id : 2752285366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FDT &1 Q01 &4 gl

Options :

1. ¥ BIcS SfbfeH <o

2. % BlHc f$ere ¢ad

3. % Bics (&g cod

4. % HIHc fgearH

Question Number : 140 Question Id : 2752285367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In ISIS indexing techniques 0 (Zero) is used for
Options :

1. # A part of field

2. % A sub field

3. % Whole field

4. ¥ Whole document

Question Number : 140 Question Id : 2752285367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ISIS G T dehteh] H 0 (I) BT SYINT ¥ fore fran S B
Options :




1. % &3 % U fgean
2. % 3g &

3. ¢ ol &x
4, % QX GATASl
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Show Attended Group? : No
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 2752285368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Internet filtering is

Options :

1. ¥ A form of censorship

2. # Acceptable user policy

3. % Access to inappropriate material

4. # Blocking internet facility

Question Number : 141 Question Id : 2752285368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e el R

Options :

1. ¢ 39 &1 T =4

2. % WD IGARTH i

3. % UGS 9IHUl d Ugd

4. % AT GIAYT D] slcb HAT

Question Number : 142 Question Id : 2752285369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following protocol is used in file transfer over internet?
Options :

1. ¥ FTP

2. % SMTP

3. % POP

4. % TCP/IP

Question Number : 142 Question Id : 2752285369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad # 9 S 91 Meieid gexqe IR Iyt RIMaRo § Y41 foar Sirar g2
Options :

1. ¢ THCIdl (FTP)

2. % TYUACIUT (SMTP)

3. % gi3{idt (POP)

4. % Tdy/emEUt (TCP/IP)

Question Number : 143 Question Id : 2752285370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Internet was initially developed by US Department of
Options :

1. ¥ Commerce

2. ¥ Defense

3. # Interior

4, % State

Question Number : 143 Question Id : 2752285370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SCHCHIET T b guy (US) faumt gri fassRa fasan mmar 4
Options :

1. % AUR

2. % &l

3. % 3idR®

4, % Y

Question Number : 144 Question Id : 2752285371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the Father of Classical Management Theory?



Options :

1. # Dr. S.R. Ranghanathan
2. ¥ Henri Fayol

3. % F.W. Taylor

4. # Peter Drucker

Question Number : 144 Question Id : 2752285371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR TeeH RIGTd & SFd B 82
Options :

2. ¥ BRI B

3. % T 8%y, ¢

4. % QiR g

Question Number : 145 Question Id : 2752285372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Program Evaluation Review Technique (PERT) is a
Options :

1. * Sampling method

2. % Data analysis

3. # Report writing

4. ¥ System analysis

Question Number : 145 Question Id : 2752285372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Hedich=T Feief debes (M 3aequ ey fea) gl

Options :



1. % THATHRT fafd
2. % 3T fa=awur
3. % fOIe aaA
4. ¢ YUITE fa=eiyor

Question Number : 146 Question Id : 2752285373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'Living With Books' used in:

Options :

1. # Cataloguing

2. # (Classification

3. % Book Selection

4. % Qver dues

Question Number : 146 Question Id : 2752285373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfd fag g &1 o RG]
Options :

1. % Tgdipl

2. % qiffpRul

3. ¢ QIdh IY-

4. % 3ffacy

Question Number : 147 Question Id : 2752285374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Programme Planning Budgeting System (PPBS) is developed by .
Options :

1. % Peter Phyor



2. ¥ Defense Department, USA
3. ¥ Mudaliar Committee
4. ® Japan Naval Base

Question Number : 147 Question Id : 2752285374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T WA Seféar Rew &R1 [aa R fbar T g
Options :

1. % PR BR

2. ¢ &I f9UTT, gUIT (USA)

3. % HaforR wfafd

4. % SOH ARSI (ST "ad 99)

Question Number : 148 Question Id : 2752285375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Total Quality Management (TQM) is essential component of
Options :

1. ® Managerial Level

2. # SO Recognition

3. # Standards of Item

4. ¥ Customer (User) Satisfaction

Question Number : 148 Question Id : 2752285375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oot TOTET TERA &1 3ffard e g |
Options :

1. % YYD TR

2. % IMIUFSAT (ISO) AT



3. % Ac &b HHS

4. UTgH (ITARTEH) A

Question Number : 149 Question Id : 2752285376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The construction of 'Modular library building' is based on
Options :

1. # Conventional construction

2. % A set of model

3. % Monumental construction

4. ¥ Non-conventional construction

Question Number : 149 Question Id : 2752285376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OiegeR geIad Yo &1 fFafor . wRenuiRa gl
Options :

1. % URUR® FH0T (G-a3Hd dHicaRH)

2. % Tlsd & T 9g

3. ¢ TR A0 ({RgHed Hegarm)

4. % TRURYRS A0 (AF-H0T-d dieaRm)

Question Number : 150 Question Id : 2752285377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Library planning is rightly considered as a
Options :

1. ¥ Team project

2. # Standards

3. # Good Furniture



4. % (Clientele

Question Number : 150 Question Id : 2752285377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR e &l 3fad =0 d T ST |
Options :

1. ¢ S giolae

2. % HHDh

3. % 3B BraR

4. % Ylgh-10[

Question Number : 151 Question Id : 2752285378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The user orientation programmers facilitates use of resources and services.
Options :

1. % Optimum

2. # maximum

3. ¥ Minimum

4. % Effective

Question Number : 151 Question Id : 2752285378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUTRTE ! SN TR ImeET 3iR darsii & SUIRT & P H & |
Options :

1. ¢ AJHhddH

2. % HgdH

3. % Y-AdH

4. % GuTd!



Question Number : 152 Question Id : 2752285379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Responsive Information Services is also known as
Options :

1. ¥ Passive Information Services

2. # Anticipatory Information Services

3. # Ready Range Reference Services

4. ® Long Range Reference Services

Question Number : 152 Question Id : 2752285379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfaferaria g Jarsif &1 HEgH Y AT ST g |
Options :

1. v FIfSpy gam Jarelt (AfRa SmiHRE afidi)

2. % gaTYRIT e darsit (TRt ShiHRE o)

3. % ThTa AT HaH Jareff RS I N afa)

4. % G Teu TaT (@=1 Ry gfaaw)

Question Number : 153 Question Id : 2752285380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Annual reports is usually devised into two parts such as
Options :

1. # the technical and non-technical

2. % the general and specific

3. ¥ the descriptive and statistical

4. % the staff and services

Question Number : 153 Question Id : 2752285380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TIftes RUIE SMAER WR fobT & W & JOR &) o1t 82
Options :

1. % -] 3R TR-db-1p!

2. % Iy 3R ARy

3. ¢ qUIATHD 3R JiRSTH g

4. % HHIRT 3R Jary

Question Number : 154 Question Id : 2752285381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Users registration records maintained in
Options :

1. # Technical section

2. % Circulation section

3. % Acquisition section

4. % Reference section

Question Number : 154 Question Id : 2752285381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STINTRdl UsiihRul Rebls T §9T0 W A g |
Options :

1. % qh-iep! STURT

2. ¢ URITROT SURT

3. % UG SHTT

4. % e 3FUm

Question Number : 155 Question Id : 2752285382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The library statistics usually pertains to library resources, technical services and
Options :

1. # Collection

2. # Finance

3. % Staff

4. % user services

Question Number : 155 Question Id : 2752285382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RABIY 3fidhg AR TR YRIHTd TATeAY, a1t Jarsif 3R J Y& g |
Options :

1. % 4Ug

2. % fad

3. % HHIR

4.  ITANTH AT araii

Question Number : 156 Question Id : 2752285383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Introduction to Reference Sources' is written by
Options :

1. # S.R. Ranganathan

2. ® Krishna Kumar

3. ¥ W.A. Katz

4. % A.J. Walford

Question Number : 156 Question Id : 2752285383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISR ¢ R TR FRINEEIRIER]




Options :

1. % TY.3MR. JEYA
2. % PUHAR

3. ¥ S&YU. DI

4. % T dABIS

Question Number : 157 Question Id : 2752285384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Inter library loan is one of the function of
Options :

1. % Reference service

2. # Current awareness service

3. % document delivery service

4. % literature searching

Question Number : 157 Question Id : 2752285384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R AT FHU1 P PO H A TP gl
Options :

1. % T Jar

2. % FAHM SREHAT Yal

3. ¥ GXATdY fadRuT Har

4. % g @il

Question Number : 158 Question Id : 2752285385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the sources of information, information can be grouped as
Options :



1. ¥ primary, secondary and tertiary
2. # published, unpublished and non-print
3. % news, information and knowledge

4. ® manuscript, print and non-print

Question Number : 158 Question Id : 2752285385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Al & TR, a1 Bl & w0 § aiffepd foar s gpar 81
Options :

1. ¢ T, mreafie SR g

2. % YSHIRI, AYHTRT 3R Hfed

3. % UMK, G 3R I

4. % qrogfarfy, gfed iR sfad

Question Number : 159 Question Id : 2752285386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Documents are primary sources in
Options :

1. ® Descriptive research

2. ¥ Historical research

3. # Scientific research

4. ® Applied research

Question Number : 159 Question Id : 2752285386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EASIC| o grfie |id &
Options :

1. % qUHATED ATIYH




2. ¢ UfagRie sru™
3. % IYIP STy
4. % UGS STHUTT

Question Number : 160 Question Id : 2752285387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the secondary source from the following.
Options :

1. # Standards

2. # Patents

3. % Journals

4. ¥ Directories

Question Number : 160 Question Id : 2752285387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefed o @ fgdiae 9id o1 uga o3|
Options :

1. # HHDh

2. % Ude

3. % GH!

4. ¢ TAERI®T

Discipline4
Group Number : 9
Group Id : 275228181
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 275228283

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228340

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 2752285388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an example of current awareness service?
Options :

1. ® SDI

2. * An Indexing Bulletin

3. * Current contents

4. ¥ A reading list

Question Number : 161 Question Id : 2752285388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fufafad 7 @ S gda STRe&dT TdT BT 3eT830T T8l 62
Options :

1. % TSI3MS (SDI)

2. % gAIHRT gaifed

3. % A T

4. UG gl

Question Number : 162 Question Id : 2752285389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Current awareness service comes under the category of
Options :

1. #* long range reference service

2. % ready reference service

3. ¥ anticipatory service

4. # responsive service

Question Number : 162 Question Id : 2752285389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JIHM SRSl &1 ot & ot B
Options :

1. % ErdpTe g Jar

2. % dgR e gar

3. ¢ SR AT

4. % YiafehaT=ite T

Question Number : 163 Question Id : 2752285390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ranganthan has defined reference service as



Options :

1. ¥ Personal service
2. # Direct personal aid
3. # Personal aid

4. ¥ Personal assistance

Question Number : 163 Question Id : 2752285390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RUEIEE R ERCICa] & U § g far g
Options :

1. ¥ SHfRITd Hal

2. % & TfkTd Tgrdl

3. % IR FETA

4. % Hfadid GeddH

Question Number : 164 Question Id : 2752285391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Referral service means

Options :

1. # Directing the read to the reference section

2. ¥ Directing the reader to the correct source

3. % Providing reference service in a large library

4. % Rendering information services to experts

Question Number : 164 Question Id : 2752285391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR Jar RwR Jan) FT 7 37 g2

Options :




1. % U & Y SrIHrT # SR &
2.« UIS® Dl el Fd oI 3R SR S
3. % T g Padad § Te a1 UM &l
4. % TORISS DI G WA U™ H=AT

Question Number : 165 Question Id : 2752285392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Handling of reference questions of fact finding nature is known as
Options :

1. ¥ Ready reference service

2. # Long range reference service

3. # Reference service

4. # Respective service

Question Number : 165 Question Id : 2752285392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JIN UHfa F e i U S FEUH AT g
Options :

1. ¢ TOR T Far

2. % EfaTen dayf T

3. % FaH Jar

4. % Gefdd Jar

Question Number : 166 Question Id : 2752285393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first step in long range reference service is
Options :

1. # Determination of the subject enquiry



2. ¥ Reference interview
3. % Identification of the primary sources that may provide answer

4. ® Spotting the places of possible answers to the topic

Question Number : 166 Question Id : 2752285393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CECANIEISCRIRCI RS2 S

Options :

1. # fowg ggdre &1 [y

2. ¢ Fau eI R

3. % Y Fial o Uga ol STR UgH o I6hd §
4. % fqUg & GHIfAd ITRI ob R DT Udl T

Question Number : 167 Question Id : 2752285394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Term 'Information Literacy' used in 1974 by

Options :

1. ¥ Paul G. Zurkowski

2. ® Association of College and Research Libraries (ACRL)
3. # Masuda

4. # Dr. S.R. Ranghanathan

Question Number : 167 Question Id : 2752285394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &R Wec BT UIART 1974 | SRT fobar 17 T |
Options :

1. ¢ TId ST, Jhiow]

2. % DIl 3R ST TXIBTad] BT 9 (ACRL)




3. % Oal
4, % Bl TR, IHIRIA

Question Number : 168 Question Id : 2752285395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'Information Literacy Competency Standards for Higher Education' is a draft prepared by
Options :

1. % IFLA

2. % SCONUL

3. % AASL

4.+ ACRL

Question Number : 168 Question Id : 2752285395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂ&%%ﬁﬁﬁﬁﬁ%%@ﬁ%%ﬁ@ﬁ%@éﬂﬁﬂ%’ SR1 4gR favar mar wEar
I

Options :

1. ® 3ZUHUAT (IFLA)

2. % TOHIS{ITAgES (SCONUL)

3. % TUUHUA (AASL)

4. ¢ THISRTA (ACRL)

Question Number : 169 Question Id : 2752285396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'Media and Information Literacy' is penned by
Options :

1. ¥ Marcus leaning

2. % GQGary Price

3. % Rachel E. Khan



4. % UNESCO

Question Number : 169 Question Id : 2752285396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hif a1 T 3IHRA feredr gRI fordt 715 B
Options :

1. ¢ HIh Y T

2. % R UIRY

3. % WA . @M

4. % GIED!

Question Number : 170 Question Id : 2752285397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'Information Skills Model', Developed by .
Options :

1. % RDA

2. % MARC

3. ¥ SCONUL

4. % ALA

Question Number : 170 Question Id : 2752285397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G P Hi g, SR AR g1
Options :

1. # RDA

2. % MARC

3. ¥ SCONUL

4. % ALA



Question Number : 171 Question Id : 2752285398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rules for Dictionary Catalogue, first time introduced by
Options :

1. ¥ C.A. Cutter

2. # Panazzi

3. %® Sayers

4. % Ranganathan

Question Number : 171 Question Id : 2752285398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QeI AU 7T, Ugell IR SR1 U9 fhu U
Options :

1. ¢ T HR

2. % Tl

3. % YOy

4. % JEYF

Question Number : 172 Question Id : 2752285399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The microform catalogues are being used extensively since
Options :

1. % 1960's

2.9 1970's

3. % 1980's

4. % 1990's

Question Number : 172 Question Id : 2752285399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIEHIHIH G H T 92 THM R IUTNT fHa1 ST 3 |
Options :

1. # 1960

2.% 1970

3. % 1980

4. % 1990

Question Number : 173 Question Id : 2752285400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

National Union Catalogue (NUC) is compiled, maintained and printed by
Options :

1. # National Library of India

2. # State Lenin Library

3. # British Library

4. ¥ Library of Congress

Question Number : 173 Question Id : 2752285400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT G G (G R Sbiord, SRR SR Tfed fobar S 81

Options :

4. ¥ B DY

Question Number : 174 Question Id : 2752285401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following areas is NOT a part of the description prescribed by AACR-II?
Options :

1. # Title and statement of responsibility

2. # Edition

3. % Publication and distribution

4. ¥ Address and location

Question Number : 174 Question Id : 2752285401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & @ o 31 87 Aacr-11 gRT Ui faaror & few gt 82
Options :

1. % T SR foreRt &1 faavur

2. % HIHI]

3. % BT 3R faaRom

4. Tl R VI

Question Number : 175 Question Id : 2752285402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Analytical entry is prepared for

Options :

1. ¥ Part of a document

2. % Full document

3. ® More than four authors

4. % Alternative title

Question Number : 175 Question Id : 2752285402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CEGLIRECAGIHY & forT IR B S B



Options :

1. ¢ GXITdgl & HAT

2. % quf gxTaw

3. % IR Y YD WD
4. % qHfcy® fw

Question Number : 176 Question Id : 2752285403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The three types of analytical entries in CCC are author analytical, title analytical and analytical.
Options :

1. % series

2. ¥ subject

3. * name

4. % edition

Question Number : 176 Question Id : 2752285403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CCC ¥ UBR 31 fa=avuners fafdal 3, dee fa=avuners, v faayuners 3R [CESRIcE
Options :

1. % gel

2. ¢ fawg

3. % Aq1H

4. % HIHUT

Question Number : 177 Question Id : 2752285404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to CCC the best way to make the choice of heading is to depend on the canon of
Options :



1. # Individualization
2. # Prepotency

3. % Ascertainability
4. # Context

Question Number : 177 Question Id : 2752285404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CCC & 3R e &1 I B BT TN 3T ARIbl & g R AR gl
Options :

1. % qgfaqemur

2. % TIYUTY

3. « FAfErad

4. % day

Question Number : 178 Question Id : 2752285405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In AACR-2R, the anonymous works of personal authors are to be enter under
Options :

1. ¥ Title

2. % Editor

3. % Subject

4. % Collaborator

Question Number : 178 Question Id : 2752285405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AACR-2R B, T gl & 3FHTH ST & qgd ol [T AT 5 |
Options :

1. ¢ P




2. % JUIGh
3. % fawg
4. % gan

Question Number : 179 Question Id : 2752285406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An entry that is made for the subject of a chapter in a book is referred to as
Options :

1. ¥ Cross Reference Entry

2. # Cross Reference Index Entry

3. # (Class Index Entry

4. % Book Index entry

Question Number : 179 Question Id : 2752285406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forlt ae H forddt sreamdy & fawa & o 1 7 ufafy &t HEI ST |
Options :

1. ¢ Sfad= ufaf® (hia Ymid T

2. % Jfafe <R ufafse (g Yy SR Ue))

3. % Fe SRR vfafte (oo SS9 U

4. % g AR ufafee (g SS

Question Number : 180 Question Id : 2752285407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The First Publisher of Sears List of Subject Headings
Options :

1. ¥ H.W. Wilson

2. % R.R. Bowkers



3. #* Author Press

4. % Forest Press

Question Number : 180 Question Id : 2752285407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fawg el o) T Gt 1 Tg USRI B 32
Options :

1. ¢ U Sy, faee

2. % IR.IR. IIHY

3. % IR UY

4. % BRE UY

Discipline5

Group Number : 10

Group Id : 275228182

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline5

Section Id : 275228284

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228341
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 2752285408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A text Book on Higher Education in India, the subject heading willbe .
Options :

1. * Education

2. % Higher Education

3. ¥ Education, Higher

4. # India, Education

Question Number : 181 Question Id : 2752285408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd H I RI& W uley g, fawg difes g
Options :

1. % fRraf

2. % I fRuan

3. ¢ fRie, 3=

4. % YR, Traf

Question Number : 182 Question Id : 2752285409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'NT, BT, UF, and USE' Terminologies used in .



Options :

1. % SLSH

2. % LCSH

3. % CCC

4. ¥ AACR-II, LCSH

Question Number : 182 Question Id : 2752285409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'NT, BT, UF, iR USE' T Tdd YsaIaa g
Options :

1. ® SLSH

2. ® LCSH

3. % CCC

4. ¥ AACR-II, LCSH

Question Number : 183 Question Id : 2752285410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UKMARUC, Developed by .
Options :

1. ¥ INB

2. ¥ BNB

3. ¥ USLC

4. ® 1ISB

Question Number : 183 Question Id : 2752285410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JHUHTSRI! (UKMARC), R fasia ferar T g |
Options :

1. # INB



2. ¥ BNB
3. % USLC
4. % TISB

Question Number : 184 Question Id : 2752285411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Resource Description and Access (RDA) is used in fields of
Options :

1. # MeSH

2. % SLSH

3. % LCSH

4. ¥ MARC Records

Question Number : 184 Question Id : 2752285411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTe fIaRuT 3R U T ST & & | fopar ST B
Options :

1. % MeSH

2. % SLSH

3. % LCSH

4. T Replgq

Question Number : 185 Question Id : 2752285412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The third law of library science allows to the readers.
Options :

1. # restricted access

2. # limited access

3. % open access



4. % closed access

Question Number : 185 Question Id : 2752285412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RAGTAY faFH BT AT F9H UTd ! &t &I 3 ST ]|
Options :

1. % gfdsiferd st

2. % g sfftmH

3. ¥ I T

4. % ST HIHTH

Question Number : 186 Question Id : 2752285413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fourth law of library science has direct implication on
Options :

1. # Resources sharing

2. # Library building

3. % Classification and Cataloguing

4. # Library staff

Question Number : 186 Question Id : 2752285413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEIpTay fag & ) e & IR T THTE USal g
Options :

1. % T I B

2. % QIdhIeld Ha+

3. ¢ TffauT 3R TREHRUI

4. % QEIDIa] HHAR]



Question Number : 187 Question Id : 2752285414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The First Delivery of Books Act in India (After 1947) was in the year
Options :

1. % 1954

2. % 1986

3. % 1956

4. % 2005

Question Number : 187 Question Id : 2752285414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H QD! BT Ugel [aaRor iffad (1947 & §1€) a9 H
Options :

1. ¥ 1954

2. % 1986

3. % 1956

4. % 2005

Question Number : 188 Question Id : 2752285415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'Libraries: Gateway to Knowledge': The title of the Report is
Options :

1. # Mudaliar Committee

2. % NEP-2020

3. % NKC-2005

4. % First Five Year Plan

Question Number : 188 Question Id : 2752285415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AR e ¢ Ararer: Raié &1 e gl
Options :

1. % HaforaR Afefd

2. % NEP-2020

3. ¢ NKC-2005

4. % TYH UIaug i1

Question Number : 189 Question Id : 2752285416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Library committee recommended for the Development of Public Libraries in India (1958)?
Options :

1. % Subharayan Committee

2. # Vavilala Committee

3. # Fyzee Committee

4. ¥ Dr. K.P. Sinha Committee

Question Number : 189 Question Id : 2752285416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oy g Iiifd 7 HRA H ATdeii-e JRaberd] & [aHT (1958) & o Rwier & ot
Options :

1. % GURU FiHfd

2. % qdtare FiHfd

3. % fbofl wfafd

4.+ 1. . U1, RgT AfAfd

Question Number : 190 Question Id : 2752285417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Resource sharing strategy of a library may NOT include .
Options :

1. * joint acquisition

2. % shared use

3. # exchange of materials

4. % restricted access

Question Number : 190 Question Id : 2752285417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PAGTT B} I AR HA DHIOANIH il A8t 8 Ipar g
Options :

1. % Yo SMUUgur

2. % g SYIN

3. % YA &1 STH-UaH

4. ¢ Yidefad uga

Question Number : 191 Question Id : 2752285418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Resource sharing in the library was originally known as
Options :

1. # Inter Library Loan

2. % Library Cooperation

3. # Library Networking

4. ® Material S haring

Question Number : 191 Question Id : 2752285418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QAT H 18 I A1 g 0 o & U T ST ST 7|




Options :

1. % 3R GIBIed! 0T
2. ¢ QDT FgA
3. % QXIDIe Heatni
4. % GIOYT IS HRAT

Question Number : 192 Question Id : 2752285419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Resource sharing eliminates duplication of money, manpower, and
Options :

1. * language

2. ¥ material

3. % religion

4, % time

Question Number : 192 Question Id : 2752285419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YIyT

2.« Ul

3. % of

4, % JHY

Question Number : 193 Question Id : 2752285420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three card system recommended by Dr. S.R. Ranganathan is used in
Options :



1. # Book Acquisition section
2. % Periodical section
3. #* Technical section

4. % Circulation section

Question Number : 193 Question Id : 2752285420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST, TH.3MR. TMIY §RIT SRR ofH 1S yumelt 1 Suai _ # fbar S g
Options :

1. % Q&P UGN UM

2. STAiYD SJHIT

3. % Th-itpl SFHNT

4. % FIAT THTT

Question Number : 194 Question Id : 2752285421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Collection number in call number is to indicate the collection in which that books placed in library. The collection numbering scheme be
formulated and maintained by the

Options :

1. #¥ Technical section

2. ¥ Maintenance section
3. % Reference section

4. ¥ Acquisition section

Question Number : 194 Question Id : 2752285421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PHid T H T T 39 YU Bl 3R Rl & FoH 98 T TadbTad H TW! T8 & | GUg SHHidb JioT GRT TR 3R
SIRI&A o1 STl B

Options :




1. % dh-ieb! STURT
2. ¥ JT/RW(G U
3. % Hgaf SFUFT

4. % UGN S{FURT

Question Number : 195 Question Id : 2752285422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The records of items, relating to the subject bibliographies is maintained by the division.
Options :

1. # Acquisition

2. ¥ Reference

3. % Technical

4. % Maintenance

Question Number : 195 Question Id : 2752285422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3fferrgor

2. ¢ e

3. % debeileh!

4, % I\RYIG

Question Number : 196 Question Id : 2752285423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'Europa World of Learning' is an example of
Options :

1. ¥ Handbook



2. # Directory
3. % Encyclopaedia
4. ¥ Yearbook

Question Number : 196 Question Id : 2752285423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR Ies 3T AT BT 3G G|
Options :

1. % QR

2. % R

3. % fayepI

4. ¢ T 3feq-PI (AR gh)

Question Number : 197 Question Id : 2752285424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency of Biological Abstracts (BA) is
Options :

1. ¥ Twice monthly

2. % Semi-monthly

3. #® Quarterly

4. % Monthly

Question Number : 197 Question Id : 2752285424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sfd® IR (@EAed Reed) B AR gl
Options :
. ¥ TR G R

2. % Y AIiYH



3. % IAR®
4. % ygfaa

Question Number : 198 Question Id : 2752285425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian National Bibliography (INB) is published by

Options :

1. # National Library of India

2. ¥ Central Reference Library, Kolkata

3. ® Library of Congress

4. # Indian National Scientific Documentation Centre (INSDOC)

Question Number : 198 Question Id : 2752285425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR I T GRT UGBTI B STt |
Options :

1. % YR AP Qb

2. ¥ FHaIg e qrADIe, HideTdl

3. % I QRABI

4. % YR AP oS GxATdeibRUl g (INSDOC)

Question Number : 199 Question Id : 2752285426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
bibliography is a systematic list of books published all over the world.
Options :
1. ® Trade
2. ¥ Universal
3. # Systematic



4. ¥ Descriptive

Question Number : 199 Question Id : 2752285426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el g R B U TRId Y&l B Ugfdeg T B
Options :
1. # AUR
2. ¥ AEHIHS
3. % Ugfdas
4. % qUATEHD

Question Number : 200 Question Id : 2752285427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

INB and BNB are examples of bibliography.
Options :

1. % Systematic

2. % Trade

3. % National

4, % Universal

Question Number : 200 Question Id : 2752285427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Ugidag
2. % UR

s v
4. % IS






